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Q.1 Select t he correct combinat ion of mat hemat ical signs to sequent ially replace t he * signs
and to balance the given equat ion.

252 *9*5*32*92 =200

Ans K- x4
K 25 x4 -
YV
p QU

Question ID : 8161619875
Status : Answered
Chosen Option : 3

Q.2 Study the given pattern carefully and select t he number t hat can replace t he
question mark (?) in it.

3135

11274
2175°?

Ans K1 20
v 2
X320
X 423

Question ID : 8161619173
Status : Answered
Chosen Option : 2




Q.3 Select t he opt ion in which t he numbers are relat ed in t he same way as are t he
numbers in t he given set.

(5,17, 49)
Ans X' 17,21, 62)
X 2.6, 18, 52)
X 3.3 15, 43)

W 2.8 23 67)

Question ID : 8161619172
Status : Answered
Chosen Option : 4

number that will be on the face opposite to the one showing ‘3°.

IO

N
X226
K35
W4

Ans

Q.4 Three different positions of the same dice are shown, the six faces of which are numbered from 1 to 6. Select the

Question ID : 8161619378
Status : Answered
Chosen Option : 4

Q.5 Gopi, Piyush, Mohan, Rahul, Shreya and Monika are sitting in a row. Shreya and

of Gopi. Who is to the right of Piyush?
Ans X 1. Monika

X 2. Gopi
X 3. Shreya
V 4. Rahul

Monika are in the centre. Gopi and Piyush are at t he ends. Mohan is sitting to the left

Question ID : 8161619164
Status : Answered
Chosen Option : 4




Q.6 Which letter cluster will replace t he question mark (?) in t he following series?

PWF, QTK, RQP, SNU, TKZ, ?

Ans \/ 1. UHE
X 2.UGF
X 3.UFG
725 4. UEH

Question ID : 8161618939
Status : Answered
Chosen Option : 1

Q7 A paper is folded and cut as shown below. How will it appear when unfolded?

7 ~

o X, »

Ans

¢ &

(2§Q
SN
N4

<77
S

p

X
S
<§7

DX

O I 1D-:-816161.9783
‘llgstlnn

Status : Answered
Chosen Option : 4




Q.8 Select t he let t ers f rom among t he given opt ions t hat can sequent ially replace t he question
mark (?) in the following series.

B,ei,N,T,?2,7?

Ans X1 i
X 2.
v SN
X4 A K

Question ID : 8161619537
Status : Answered
Chosen Option : 3

Q.9 Select the option that is related to the third term in the same way as t he second t
erm is related to the first term.

AMOUNT : UTONMA :: QUANTIFY : ?
Ans \f 1. YUT QNIFA
25 2. YUTNIQAF
7% 3.YUQTIMFA
2 4 AFTONIUB

Question ID : 8161619552
Status : Answered
Chosen Option : 1

Q.10 Select t he number f rom among t he given opt ions t hat can replace t he question
mark (?) in t he following series.

13, 50, 198, 790, ?

Ans l( 1. 3158
X 2. 1560
X 3. 3552
X 4. 2550

Question ID : 8161619366
Status : Answered
Chosen Option : 1

Q.11 Select t he let t er-clust er f rom among t he given opt ions t hat can replace t he question
mark (?) in the following series.

GNOME, GNOMI, 2, GNSQI, GRSQI,
KRSQI Ans /X 1.GRORI
75 2. GNPQJ
W 3 cnoa
75 4.GNPQI

Question ID : 8161619338
Status : Answered
Chosen Option : 3




Q.12 Which number will replace t he question mark (?) in the following series?

1,6,12,26,67,172,?

Ans X1 302
X 2,420
W 302
5 4320

Question ID : 8161618968
Status : Answered
Chosen Option : 3

Q.13 ‘France’ is related to ‘Football’ in the same way as ‘Bhutan’ is related to ¢ i
Ans x 1. Table Tennis

75 2. Baseball

x 3. Badminton

“ 4. Archery

Question ID : 8161619745
Status : Not Answered
Chosen Option : --

Q.14 Two Statements are given, followed by t hree conclusions numbered I, Il and III.
Assuming t hat t he inf ormat ion given in t he st at ement s is true, evenif it appears t obe at
variance wit h commonly known f act s, decide which of t he given conclusions logically f
ollow(s) from the statements.

St at ement s:
1. Some vowels are digits.
2. Some digits are consonants.

Conclusions:
1. No consonant is a vowel.
11. No digit is a vowel.

111.Some consonant s are vowels. ANS
“ 1. Either conclusion | or 111 follows

x 2. All the conclusions follow
x 3. Only conclusions | and |1 follow

x 4. Only conclusions Il and Il follow

Question ID : 8161619158
Status : Answered
Chosen Option : 1




Ans

Q.16

Ans

Ans

Ans

Q.15 Sravan hires a pre-paid taxi at Terminal A and drives 18 km towards t he nort h. He

takes a right turnanddrives 40 km to reach Junction X. He t hen drives 15 km af tert
aking a lef t t urnt o reach Junct ion Y. Finally, he t akes a left t urn and drives 40 km and st

ops at Terminal B.

How far is Terminal A with respect to Terminal B?

X 1.32km
X 2.35km
W 3.33km
X 434 km

Question ID : 8161619160
Status : Answered
Chosen Option : 3

Select the option that is related to the fourth term in the same way as the first
term is related to the second term and the fifth term is related to the sixth term.

8:514::?:29::7:345

p
X 25
X 36
v

Question ID : 8161619370
Status : Answered
Chosen Option : 4

heir order in an English dictionary.

Nost algic, Nausea, Narcot ic, Narrat ive, Nost ril

( 1. Nausea
x 2. Narcotic
x 3. Narrative
x 4. Nostril

Q.17 Among t he given words, select t he one that will come third if t hey are arranged asper t

Question 1D : 8161619342
Status : Answered
Chosen Option : 1

given pair of words.

Genuine : Spurious

x 1. Generosity : Largesse
x 2. Eclipse : Decline
x 3. Impulsive : Spontaneous

( 4. Docile : Headstrong

Q.18 Select the option in which the words share t he same relat ionship as t hat shared by the

Question 1D : 8161618950
Status : Not Answered
Chosen Option : --




Q.19 Read t he given statements and conclusions caref ully. Assuming t hat t he
informat ion given in t he statements is true, even if it appears to be at variance wit h
commonly known facts, decide which of the given conclusions logically follow f romthe
statements.

Statements:

1. No powder is a solid.
2. All lot ions are solids.
3. All gases are lot ions.
Conclusions:

1. No solid is a gas.

I11. No gas is a powder.

111.No lotion is a powder.
1V.Some powders are lot ions.

Ans « 1. Only conclusions I1 and 111 follow
x 2. Only conclusions I, Il and IV follow
x 3. Only conclusions 11, Il and 1V follow

x 4. Only conclusions I, Il and 111 follow

Question ID : 8161619359
Status : Answered
Chosen Option : 1

Q.20 If MARGIN is coded as 1429201813 and PROSE is coded as 11930810, t hen how will
COLUMN be coded?

Ans “ 1. 243015421413
75 2. 240315614131
7< 3. 421304261315

/X 4. 423051136314

Question 1D : 81616110057
Status : Answered
Chosen Option : 2

Q.21 Select the option that is related to the third term in t he same way as t he second t
erm is related to the first term.

GOLDEN : KKOWIJ : : DEMAND : ?
Ans X1 7ANZSZ

W 2 HaNzRrZ
25 3. HAOYRZ

X 4 AZNZSZ

Question ID : 8161619153
Status : Answered
Chosen Option : 3




Q.22 In afamily, t he income of Amala is 180% of t he income of her husband Balu, and t heincome
of Charu is 150% of t he income of Amala. If the totalincome of Amala, Baluand Charu t
ogether is ¥1,10,000, what is Charu’s income?

Ans X1 745,000
X 2,252,000
X 3,248,000
W 4250000

Question ID : 8161619177
Status : Answered
Chosen Option : 2

Q.23 Rajkiran starts walking from his home and goes 480 m towards the south. Then he t
urns right and walks 165 m. He again turns right and walks 210 m. He finally t urns lef t
and walks 120 m to reach a garden. How far is he nowf rom his office which is 270 m sout
h to his home?

Ans “1. 285 m
75 2.265m
X 3.330m
75 4.165m

Question ID : 8161619361
Status : Answered
Chosen Option : 1

Q.24 Select t he correct option that indicat es t he arrangement of t he given words in t he order
in which t hey appear in an English dictionary.

. Monst er

. Monast ery
. Morsel

. Mount ain
. Moust ache
. Monument

Ans K126 1 3 4,5
X 2216354
V3216345
X 4126345

o0 WN

Question ID : 8161619344
Status : Answered
Chosen Option : 3




Q.25 Which letter will replace t he question mark (?) in the following series?

D,I,K,H,M,0O,L,Q,5P,?

Ans X1 E
v 2u
X 3A
X a0

Question ID : 8161618936
Status : Answered
Chosen Option : 2

Q.26 Midhun smashes 96 runs against Zimbabwe in 18 balls. If he scored his runs by

ing fours.

Ans \f 1. 25%
X 2.23%
25 3.32%
X 4. 30%

hitting fours and sixes only, t hen find t he maximum percent age of runs he scored by hitt

Question ID : 8161618976
Status : Answered
Chosen Option : 1

original pair of words.

Duck : Waddles
Ans x 1. Horse : Prowls

X 2. Deer : Flutters
( 3.Frog : Leaps

X 4. Parrot : Trots

Q.27 Choose the pair that best represents a similar relat ionship to t he one expressed inthe

Question ID : 8161619749
Status : Answered
Chosen Option : 3

her-in-law of J. J has only one son. Y is not the granddaughter of G.

How is X related to G?

Ans ( 1. Granddaughter

X 2. Daughter
X 3. Grandson
X 4.Son

Q.28 In a family, X and Y are siblings. P has two children and he is the son of G, who is the fat

Question ID : 8161618962
Status : Answered
Chosen Option : 4




Q29 Select the option in which the given figure is embedded (rotation is NOT allowed).

bt

Ans

X 3

AR

Question 1D : 8161619780

Status : Answered
Chosen Option : 2




Q30 Select the option that is embedded in the given figure (rotation is NOT allowed).

Question ID : 8161619381
Status : Answered
Chosen Option : 3

Q.31 Select the option in which the words share t he same relat ionship as t hat shared by the
given pair of words.

Flowers : Jasmine AnS
( 1. Colours : Blue
x 2. Pencil : Geometry
x 3. Arithmetic : Calculator

x 4. Fruits : Leaves

Question 1D : 8161619348
Status : Answered
Chosen Option : 1




Q.32 Select the option in which the given figure is embedded (rotation is NOT allowed).

5 2.

< 3.

v

B9 |

Status : Answered
Chosen Option : 4

Q.33 If MONK is coded as 1498 and URGE is coded as 7653, t hen how will GONE be coded?

Ans \f 1.5493
75 2. 3459
75 3. 3549
5 45043

Question ID : 8161618956
Status : Answered
Chosen Option : 1




Q.34 In the following figure, the square represents mathematicians, the triangle represents statisticians, the circle represents
architects, and the rectangle represents pathologists. Which set of digits represents architects who are NOT statisticians?

==
~

AN % 1.6,5,3
X 28,24
534,71
v 1,23

Qu(;‘bl.i()ll 1D . 0lbl01916o
Status : Answered
Chosen Option : 4

Q.35 Select t he correct option that indicat es t he arrangement of t he given words in t he order in
which they appear in an English dictionary.

. Inharmonious
. Injudicious

. Ingenious

. Inhospit able
. Inherit ance

Ans XK' 13152 4
X 231,254
V3315402
X 432415

g~ owN e

Question 1D : 8161618943
Status : Answered
Chosen Option : 3

Q.36  Select the correct mirror image of the given combination when the mirror is placed at 'PQ' as shown.

P
MERCURYI
Q

A XL YSJUOSAAM
voYSAUDSIIM

X INEKONKA
X+« INEECNEK A

Question ID : 8161619782
Status : Answered
Chosen Option : 2




Q.37 Select the option that is related to the third term in t he same way as t he second t
erm is related to the first term and sixth term is related to fifth term.

5:22::7:?::9:78

Ans X143
X 2.4
W 346
X 447

Question ID : 8161618969
Status : Answered

Chosen Option : 3

Q.38 Which number will replace t he question mark (?) in the following series?

4,13,9,17,19,19, 39, 23, ?, 29

Ans \f 1.79
X 278
X 307
& 487

Question ID : 8161618967
Status : Answered

Chosen Option : 1

Q.39 In a certain code language, PROJECT is written as KILQVXG. How will MODERNIT Y
be written in that language?

Ans K1 NLXVIMSGB
X 2. PLWVIORGZ
W 3 NLWVIMRGB

X 4.NKYVIMQGB

Question 1D : 8161619354
Status : Answered

Chosen Option : 3

Q.40 “Extrovert’is related to ‘Introvert’ in the same way as ‘ Timid’ is related to ¢
Ans X 1. Toxic

“ 2. Bold
X 3. Dwarf
X a.shy

Question ID : 8161619347
Status : Answered

Chosen Option : 3




Q.41 In a certain code language, SOLUTION is written as XLQFYRT M and GARMENTS is
written as LZWNJMYH. How will ADVANCED be written in t hat language?

Ans v' 1. FWAZSXJW
X 2. FIAYSXIW
X 3. zwzxzsiv

X 4 zZwzzsxiv

Question ID : 8161619155
Status : Answered

Chosen Option : 1

Q.42 Select the option that is related to the fourth term in t he same way as the first
term is related to the second term and the fifth term is related to the sixth term.

143 :11::?:13::437:19

Ans X1 168
K 2o
X 3309
N

Question ID : 8161619371
Status : Answered

Chosen Option : 4

Q.43 If ‘G @ T’ means ‘G is the father of T,
‘G % T’ means ‘G is t he wife of T,
‘G # T’ means ‘G is the daughter of T°, and*
G * T’ means ‘G is t he son of T,

then which of the following options is true based on the expression ‘L *M @ N % O *
P2

Ans ( 1. N is the daughter-in-law of P.
x 2. O is the brother of L.
x 3. O is the son of M.

x 4. N is the mother of L.

Question ID : 8161618963
Status : Answered

Chosen Option : 1




Q44 Select the Venn diagram that best illustrates the relationship between the given classes.

Rational numbers. Whole numbers, Real numbers
Ans

5oL

F

v &

< 4

BOO®Q

QuestiontD——8161619884
Status : Answered
Chosen Option : 3

Q.45 Select t he correct option t hat indicates t he arrangement of t he given words in t he order
in which t hey appear in an English dictionary.

. Murder

. Mould

. Mundane
. Mount ain
. Muscat

Ans \f1.2,4, 3,1,5
X 223415
K 324153
X 4.2,31,54

g s wN

Question ID : 8161618941
Status : Answered
Chosen Option : 1




Q.46 Select the option that is related to the third term in the same way as t he second term
is related to the first term.

MAGIC : OWIEE :: ENTER : ?
Ans \f 1. GIVAT

X 2. GVBRT

X 3.GRVBT

25 4 GVITA

Question ID : 8161618951
Status : Answered
Chosen Option : 3

Q.47 Which two numbers should be interchanged to make t he given equat ion correct ?
27+ 11x9-36+ 4=67
Ans \f 1.4 and 9
< 2,11 and 27
X 3.11 and 36
& 4.27 and 36

Question ID : 8161619374
Status : Answered
Chosen Option : 1

Q.48 Select the option thatis related to the third word in t he same way as the second word
is related to the first word.

Psoriasis : Skin :: Rickets : ?

Ans X1 Eyes
W 2. Bones
< 3. Thyroid
X 4. Gums

Question 1D : 8161619846
Status : Answered
Chosen Option : 2




Q.49 Seven doct ors, Ankit, Bhuvana, Chandan, Dinakar, Tarak, Fernanda and George, wit h
dif ferent specialisat ions, are sitting in a st raight line facing the north, but not
necessarily in the same order. There is only one doctor bet ween Fernanda and
Chandan. Tarak is sitting bet ween Ankit and Dinakar. There are only t wo doct ors bet
ween Tarak and George. Fernanda is sitting on the immediate left of Ankit, who is sitt
ing in t he middle of the row.

Who among t he following is sitting on the immediate right of Dinakar?
Ans X1 George

x 2. Tarak

x 3. Fernanda

“ 4. Bhuvana

Question ID : 8161619765

Not Attempted andMarked
For Review

Chosen Option : --

Status :

Q.50 Select t he let t er-clust er f rom among t he given opt ions t hat can replace t he question
mark (?) in the following series.

OMB, DOQ, SQF, HSU, WUJ, ?, AYN,
PACANS \f 1. LWY

X 2. kwe
75 3.GHK
X 4. owe

Question 1D : 8161619340
Status : Answered
Chosen Option : 1

Section : General Awareness

Q.1 Among 189 count ries, India has ranked on the Human Development Index
2020, prepared by t he United Nat ions Development Programme (UNDP).

Ans X1 120th
W 2 1318t
X 3.138th
25 4. 142nd

Question ID : 8161618988
Status : Not Answered
Chosen Option : --




Q.2 Which of t he f ollowing riversis NOT a tribut ary of Indus River?

Ans X1 Ravi
X 2. Beas
X 3. Chenab
( 4. Gomti

Question 1D : 81616110120
Status : Answered
Chosen Option : 4

Q.3 Which of t he following element s occurs most abundant ly in our universe?Ans

o 1. Hydrogen
25 2. oxygen
X 3. Nitrogen
X 4. Helium

Question 1D : 81616110109
Status : Answered
Chosen Option : 3

Q.4 Atoms of which of the following elements has more than one electron in its out
ermost shell?

Ans x 1. Sodium
( 2. Beryllium

X 3. Hydrogen

< 4. Lithium

Question 1D : 8161619009
Status : Answered
Chosen Option : 2

Q.5 Endoplasmic (ER) is a large net work of membrane-bound t ubes and sheets.

Ans X' 1 Ribosome
X 2. Range
X 3.Ring
o 4. Reticulum

Question 1D : 8161619208
Status : Answered
Chosen Option : 4




Q.6 in our body is a cartilaginous box which helps in sound product ion.
Ans X 1. Epiglottis

X 2. Alveoli

« 3. Larynx

X 4. Pleura

Question ID : 8161619605
Status : Not Answered
Chosen Option : --

Q.7 Which of t he f ollowing schemes was init iat ed wit h t he int ent ion of creat ing a level- playing
field for meritorious Indian girls from grades 9 to 12 to pursue Science,
Technology, Engineering, and Mat hemat ics (STEM) in t heir higher educat ion?
Ans x 1. Vigyan Sankalp
X 2. Vigyan Sadhna
« 3. Vigyan Jyoti

X 4. Vigyan Aradhana

Question ID : 8161619403
Status : Not Answered
Chosen Option : --

Q.8 In computing, is a net work security system that monitors incoming and
out going net work t raffic based on predefined security rules.

Ans X 1. gateway

X 2. network switch

X 3. router
V 4. firewall

Question ID : 8161619187
Status : Answered
Chosen Option : 1

Q.9 The deficiency of which mineral may cause ost eoporosis?Ans

X 1. Sodium
X 2. Fluoride
X 3. 1Iron

« 4. Calcium

Question 1D : 8161619908
Status : Not Answered
Chosen Option : --




Q.10 Who among t he f ollowing was t he first ruler to inscribe his message to his subjects and
officials on stone surfaces, nat ural rocks and polished pillars?

Ans X 1. Bimbisar

X 2. Chandragupta Maurya
X 3. Bindusar
V 4. Asoka

Question ID : 8161619826
Status : Not Answered
Chosen Option : --

Q.11 Galena is basically a
Ans x 1. chloride

X 2. fluoride
X 3. hydride
« 4. sulfide

Question ID : 8161619213
Status : Not Answered
Chosen Option : --

Q.12 As per the Provisions of the Regulating Act of 1773, was appointed as t he
Governor-General of the Presidency of Fort William.

Ans X 1. Lord Cornwallis
( 2. Warren Hastings
x 3. Sir George Barlow

X 4. John Shore

Question ID : 8161619224
Status : Not Answered
Chosen Option : --

Q.13 Which of t he f ollowing cit ies is scheduled t o host t he 2030 Asian Games as per t he
announcement made by the Olympic Council of Asia on 16 December 2020?

Ans X' 1. Abu Dhabi
< 2. Riyadh
X 3. Muscat
W 4. Doha

Question ID : 8161619834
Status : Not Answered
Chosen Option : --




Q.14 In December 2020, how many indigenous games were approved for inclusion as a partof t
he Khelo India Youth Games by the Sports Ministry of India?

Ans X' 1 six
W 2 Four
25 3. Three
X 4. Eight

Question ID : 8161619935
Status : Not Answered
Chosen Option : --

Q.15 Which of t he following digit al portals was launched by t he Minist ry of Tribal Af fairson
22 January 2021 to collect dat a related to the tribal migrant workers in India?

Ans X 1. Scheduled Tribe Component (ST C) Monitoring System
X 2. Shram Suvidha

x 3. Swasthya

( 4. Shram Shakti

Question ID : 8161619892
Status : Not Answered
Chosen Option : --

Q.16 Which of t he following is t he birt hplace of Subhash Chandra Bose?Ans

V 1. Cuttack
X 2. Calcutta
X 3. Raipur

X 4. Darjeeling

Question ID : 8161619223
Status : Not Answered
Chosen Option : --

Q.17 Who wrot e t he book ¢ The Ickabog’?
Ans X 1. Ruskin Bond

( 2. JK Rowling

X 3. Malala Yousafzai

X 4. Megan Miranda

Question ID : 8161619427
Status : Not Answered
Chosen Option : --




Q.18 At which of the following sites was t he first ast ronomical observat ory of t he Harappan
Civilization found?

Ans X 1. Lothal, Gujarat
X 2. Gola Dhoro, Gujarat
( 3. Dholavira, Gujarat

X 4. Kalibangan, Rajasthan

Question 1D : 81616110124
Status : Not Answered

Chosen Option : --

Q.19 On which of t he following rivers is the Dantiwada Dam built ?

Ans X 1. Sabarmati river

( 2. Banas river
X 3. Tapti river

X 4. Mahi river

Question ID : 8161619819

Status : Not Answered

Chosen Option : --

Q.20 In December 2020, who among t he following presented the Legion of Merit Award to the
Prime Minister of India?

Ans X 1. Xi Jinping
( 2. Donald Trump
< 3. Viadimir Putin

X 4. Emmanuel Macron

Question ID : 8161619592

Status : Not Answered

Chosen Option : --

Q.21 The theory of plate tectonics proposes t hat the earth’s lit hosphere is divided into
major plat es.

Ans 71.7
X 29
X 35
X 411

Question ID : 8161619616

Status : Not Answered

Chosen Option : --




Q.22 Who was the chairman of t he commission to study t he reorganisat ion of states on
linguist ic basis which was announced in 1953 by t he t hen Prime Minist er Pandit Jawaharlal
Nehru?

Ans X 1. Sardar Vallabhbhai Patel

X 2. Dr. Rajendra Prasad

X 3. TT Krishnammachari

( 4. Fazal Ali

Question ID : 8161619432
Status : Not Answered
Chosen Option : --

Q.23 Which of t he f ollowing Art icles of t he Const it ut ion of India deals wit ht heprot
ection of interests of minorities?

Ans X1 Article 18
W 2. Article 29
x 3. Article 42
x 4. Article 24

Question 1D : 81616110129
Status : Not Answered
Chosen Option : --

Q.24 The Social Endeavour f or Healt h and Telemedicine (SEHAT) scheme was launched in
December 2020 for the residents of:

Ans X 1. Lakshadweep
( 2. Jammu and Kashmir

X 3. Dadra and Nagar Haveli and Daman and Diu

X 4. Ladakh

Question 1D : 8161619789
Status : Not Answered
Chosen Option : --

Q.25 Which of t he f ollowing places has a nuclear power plant ?Ans

X 1. Neyveli
« 2. Kaiga
X 3. Koradi
X 4. Barauni

Question ID : 8161619220
Status : Not Answered
Chosen Option : --




Q.26 The IUCN (International Union for Conservat ion of Nat ure) List is a critical
indicat or of the health of the world’s biodiversity.

Ans XK1 Black

x 2. Violet
X 3. Orange
“ 4. Red

Question ID : 8161619410
Status : Not Answered
Chosen Option : --

Q.27 What is t he SI unit of quant it y of heat ?AnS

X 1. Farad
X 2. Weber

X 3. Henry
( 4. Joule

Question ID : 8161619905
Status : Answered
Chosen Option : 4

Q.28 Ayoung is called a joey.
Ans “ 1. kangaroo

X 2. peacock
X 3. crocodile
X 4. zebra

Question 1D : 8161619004
Status : Not Answered
Chosen Option : --

Q.29 Wit h which of t he f ollowing indust ries are t he names * NALCO" and ' BALCO"associat
ed?

Ans “ 1. Aluminum

X 2. Iron ore
X 3. Textile
x 4. Sugar

Question ID : 8161619895
Status : Answered
Chosen Option : 1




Q.30 According to Article 87 of the Constitution of India, the can address bot h
Houses of Parliament assembled t oget her.

Ans X 1. Chairman of the Rajya Sabha

( 2. President

X 3. Prime Minister

X 4. Speaker of the Lok Sabha

Question ID : 8161619930
Status : Not Answered
Chosen Option : --

Q.31 Which of the following inst ruments is used for recording t he magnit ude and int
ensity of eart hquakes?

Ans X 1. Sonograph
X 2. Spectrograph
« 3. Seismograph

X 4. Sphygmograph

Question ID : 8161619899
Status : Answered
Chosen Option : 3

Q.32 World Zoonoses Day is observed every year on to create awareness on
zoonot ic diseases, how to prevent them, and what actions to take when exposed.

Ans X1 6 August
X 2.6 June
W 3.6y
25 4.6 October

Question 1D : 8161619602
Status : Not Answered
Chosen Option : --

Q.33 Gautam Buddha’s teachings are found mainly in:

Ans x 1. Vinaya Pitaka

< 2. Abhidhamma Pitaka

X 3. T isarana

« 4. Sutta Pitaka

Question ID : 8161619822
Status : Not Answered
Chosen Option : --




Q.34 Which of t he f ollowing Art icles of t he Const it ut ion of India is relat ed t o ¢ Right t oEducat
ion’?

Ans ( 1.21A
X 2.3
X 3.74A
X 421

Question ID : 8161619231
Status : Answered
Chosen Option : 1

Q.35 Which planet of our solar syst em is closest to t he Sun?Ans

&1 Mars
& 2. Neptune
W 3 Mercury
25 4. Venus

Question 1D : 81616110105
Status : Answered
Chosen Option : 3

Q.36 Which of t he f ollowing places is associat ed wit h Nat ional Wat erways Number 2?Ans

( 1. Dhubri

< 2. Allahabad

X 3. Champakkara

X 4. Haldia

Question ID : 8161619018
Status : Not Answered
Chosen Option : --

Q.37 Which of t he f ollowing union territ ories was a Port uguese colony unt il 1954? Ans

X 1. Puducherry
X 2. Andaman and Nicobar Islands

( 3. Dadra and Nagar Haveli

X 4. Lakshadweep

Question ID : 8161619817
Status : Not Answered
Chosen Option : --




Q.38 Which of the following changes CANNOT be reversed?

Ans x 1. Stretching a rubber band and returning it to its normal size
X 2. Blowing a balloon to increase its size till it is about to burst
( 3. Rolling a roti from dough and baking it on a tawa

X 4. Changing wet clothes to dry clothes

Question ID : 8161619610
Status : Answered
Chosen Option : 2

Q.39 ¢Mission Karmayogi’ was launched by t he wit h t he object ive of enhancing
governance, in Sept ember 2020.AnS

#5 1. Ministry of Civil Aviation
“ 2. Ministry of Personnel, Public Grievances and Pensions
X 3. Ministry of Social Justice and Empowerment

X 4. Ministry of Agriculture and Farmers Welfare

Question ID : 8161619190
Status : Not Answered
Chosen Option : --

Q.40 Rocket propulsion t echnology works on which of t he following scient ific principles?Ans

X 1. Law of thermodynamics
x 2. Laws of reflection of sound
( 3. Newton’s laws of motion

X 4. Law of conservation of mass

Question 1D : 81616110112
Status : Answered
Chosen Option : 4

Q.41 In which mont h does India celebrate World Environment Day?Ans

X 1 May
X 2. October
( 3. June
X 4. August

Question 1D : 8161619591
Status : Not Answered
Chosen Option : --




Q.42 Which of t he following is a viral disease?
Ans X 1. Tuberculosis

X 2. Typhoid
X 3. Leprosy
o 4 zika

Question ID : 8161619413
Status : Not Answered
Chosen Option : --

Q.43 Which of t he f ollowing dams has been const ruct ed across t he river Narmada?Ans
X 1. Nagarjuna Sagar
( 2. Sardar Sarovar

X 3. Bhakra Nangal

X 4. Hirakud

Question ID : 8161619415
Status : Not Answered
Chosen Option : --

Q.44 A is a vertical blinking line in a text editor that indicates t he place where
anyt hing that is typed will appear.

Ans ( 1. cursor
X 2. layout
X 3. footer
25 4. header

Question ID : 8161618986
Status : Answered
Chosen Option : 1

Q.45 NITI Aayog, in part nership wit h the Institute of Compet itiveness, released t he
Export Preparedness Index (EPI) in August 2020.

Ans XK1 second
X 2. fourth
X 3. third
W 4 first

Question ID : 8161619396
Status : Not Answered
Chosen Option : --




Q.46 N in SONAR stands for:
Ans X 1. Neuron

“ 2. Navigation
X 3. Nano
X 4. Negative

Question ID : 8161619205
Status : Answered
Chosen Option : 2

Q.47 Under Article 32 of the Constitution of India, the Supreme Court is invested witht
he power to issue writs. Which of the following is NOT one of t hose writ s?

Ans X' 1 Prohibition

X 2. Mandamus

( 3. Anapneo

X 4. Quo Warranto

Question ID : 8161619832
Status : Not Answered
Chosen Option : --

Q.48 Neut rons are present in the nucleus of all atoms EXCEPT in those of
Ans X 1. nitrogen

X 2. carbon

( 3. hydrogen

X 4. oxygen

Question 1D : 8161618997
Status : Answered
Chosen Option : 3

Q.49 The Indira Gandhi Prize for Peace, Disarmament and Development was first awardedin
Ans X1 1990
X 2. 1985

X 3. 1084
W 2 1986

Question ID : 8161619028
Status : Not Answered
Chosen Option : --




Q.50 As of financial year 2018-19, which of t he f ollowing st at es had t he highest percapita
income in India?

Ans  of 1. Goa

x 2. Maharashtra

x 3. Gujarat
X 4. Haryana

Question ID : 8161619894
Status : Not Answered
Chosen Option : --

Section : General Engineering Civil and St ruct ural

Q.1 What will be the percentage of passing aggregate for the grading zone | of sieve size 1.18 mm?
Ans - X1 7% -25%

X 2. 100%

v 2 30% - 70%

X 4. 10% - 20%

Question 1D : 81616110143
Status : Not Answered
Chosen Option : --

Q2 Activity of soil is ratio of the plasticity index to:
Ans 1. percentage of compressive strength

2. liquidity index

3. percentage of sensitivity

4. percentage by weight of clay fraction

Question 1D : 81616110172
Status : Answered
Chosen Option : 4

Q.3 As per IS 456-2000. the short term static modulus of elasticity (Ec) in terms of the characteristic cube strength (fcx) in
MPa units is given by:

A1 E. = 3000,/
2. E. = 5000,/T,
3 Eg=0.7/Fx
4. E, = 0.623,/T

Question ID : 81616110024
Status : Answered
Chosen Option : 2




Q.4 According to IS 456-2000, what is the slump of a medium degree of workability of concrete if placed in heavily
reinforced sections like slabs. beams, walls, columns?

Ans X110 -25 mm
v 250 - 100 mm
X 3 0-10mm
X 4 25-50 mm

Question ID : 8161619941
Status : Not Answered
Chosen Option : --

Q5  Which of the following methods is NOT used for measuring air content in fresh concrete?
Ans o 1 Blaine air permeability method

& 2 Volumetric method

< 3 Pressure method

/< 4 Gravimetric method

Question ID : 81616110022
Status : Not Answered
Chosen Option : --

Q.6 The following statements (C1, C2, C3, C4) pertain to the characteristics of different type of canals. Which of the
following statements is/are correct?

C1: A contour canal can irrigate command areas on both the banks.
C2: It is possible to construct a contour canal with banks on one side only.
C3: In the case of a ridge canal, the number of cross drainage works are maximum.

C4: Side slope canal is aligned roughly at right angles to the ground contours.

1. Cl only

& 2 C1and C3 only

v 2 C2 and C4 only
/< 4 Cl, C3 and C4 only

Question 1D : 81616110293
Status : Not Answered
Chosen Option : --




Q.7 Inaworkshop shade, trusses are spaced at 4 m centre to centre. The purlins are spaced at 1.4 m centre to centre along

the slope of 30°. The (Dead Load + Live Load) is 3 KN/m? and the wind load is 5 kN/m?. The vertical and the inclined
point loads, respectively, will be:

Ans X 1 20 KN and 24 kN
X 2 18 KkNand 21 kN
< 3 17.8 kN and 48 kN
o % 14.54 kN and 28 kN

Question 1D : 81616110335
Status : Not Answered
Chosen Option : --

Q8  Arrange the following building materials in the increasing order of density of materials.

Granite, Steel, River sand, Water

Ans X 1. Water, River sand, Steel, Granite
/< 2. River sand, Granite, Water, Steel
« 3 Water, River sand, Granite, Steel
/< 4. River sand, Water, Granite, Steel

Question 1D : 81616110244
Status : Not Answered
Chosen Option : --

Q.9  What will be the carrying capacity of a horizontal rectangular channel 4 m wide, conveying a discharge of 1 cumecs per
meter width of channel?

X 18,000 m/s
X 2 1.000 m/s
v 5 4,000 m¥/s
X 4 2,085 ms

Ans

Question 1D : 81616110195
Status : Answered
Chosen Option : 3

Q.10 The test commonly adopted to determine the grade of bitumen in terms of its hardness is:

At X 1 the softening point test

/< 2. the flash and fire point test

X 3. the ductility test
« ¢ the penetration test

Question ID : 81616110296
Status : Answered
Chosen Option : 4




head-discharge characteristics are as follows.

Q.11 According to IS 5968:1987, the minimum radius of curve to be provided in the alignment of unlined canals carrying a
discharge of less than 30 cumecs up to 15 cumecs is:

Ans  of 1 600 m
2 100 m
/3 150 m
< 41000 m

Question 1D : 81616110189
Status : Not Answered
Chosen Option : --

Pump P Pump R
Discharge |Head (m) Discharge | Head (m)
(cumecs) (cumecs)
0 40 0 45
0.12 35 0.14 40
0.2 28 0.24 35
0.3 18 0.36 21

cumecs corresponding to a head of 35 m.

cumecs corresponding to a head of 70 m.

during actual operation. Neglect losses in the system.

Which of the following statements are correct?

Q12 Two centrifugal pumps P and R are available for use in a pipe flow system and their

The following statements ( S1, S2, and S3) pertain to the head and discharge values

S1: When the two pumps P and R are connected in parallel, the discharge is 0.36
S2: When the two pumps P and R are connected in parallel, the discharge is 0.36

S3: When the two pumps P and R are connected in series, the discharge is 0.3 cumec
Ans Cnx—:slpn S? and S3ad of 46 m.
2. S2 only

X< 3 SlandS2
4 Sl and S3

Question ID : 81616110286

Status : Not Answered
Chosen Option : --




Q.13 Select the correct statement related to increasing the carbon content in steel from 0.2 to 0.9 per cent.

Ans X 1.

Increasing the carbon content in steel decreases the yield stress and increases the ductility.
X2

Increasing the carbon content in steel decreases the yield stress and does not affect the ductility.
X 3.

Increasing the carbon content in steel does not have any effect on the yield stress or ductility.
« 4,

Increasing the carbon content in steel increases the yield stress and reduces the ductility.

Question 1D : 81616110247
Status : Not Answered
Chosen Option : --

Q.14  Select the correct option with regard to the following two statements (S1, S2) pertaining to consolidation in soils.

S1: Asoil is termed as normally consolidated, if the present effective over burden pressure is less than the maximum to
which the soil was ever been subjected to in the past.

S2: The larger the value of co-efficient of consolidation, the shorter it takes for full consolidation to occur.

Ans X1 S js true and S2 is false
< 2 Both S1 and S2 are true
« 3. Sl is false and S2 is true
< 4 Both SI and S2 are false

Question 1D : 81616110277
Status : Answered
Chosen Option : 3

Q.15 Which type of odour characteristic is NOT used for classifying odour of a given water sample as per IS 3025
(part- 5)1983?

Ans 1. Degrees of pungency
2. Degrees of sweetness
3. Degrees of smokiness

4. Degrees of turbidity

Question ID : 81616110204
Status : Answered
Chosen Option : 1

Q.16 The estimated value of a built-up property at the end of its useful life without being dismantled is called:
Ans - X 1. book value

2. scrap value
« 3. salvage value

< 4 market value

Question ID : 8161619954
Status : Answered
Chosen Option : 3




Ans

Ans

Ans

& 1 0.0001 m
/< 2 0.0002 m
v 2 0.005m
< 200lm

Q.17 According to SP: 27-1984, the thickness of slab or RC slab shall be measured to the nearest of:

Question ID : 81616110151
Status : Not Answered
Chosen Option : --

List 1

List2

B. Intermediate transverse web stiffener

1. Provide local reinforcement to web

under shear and bearing

C. Load carrying stiffener

2. Improve the bucking strength of a

slender web due to shear

D. Bearing stiffener

3. Prevent local buckling of web due to

concentrated loading

E. Diagonal stiffener

4. Prevent local crushing of web due to

concentrated loading

"/ T B-2,C-3,D-4,E-1
< 2 B-4,C-3,D-1,E-2
3 B-4,C-3,D-2,E-1
< s B-3,C-2,D-4,E-1

< 2. Poisson’s ratio
+ 3 Moment of inertia
7< 4. Mass density

Q.18 AsperIS 800 : 2007, in the design of beams/plate girders, when the web of a member acting alone is inadequate,
different types of stiffeners are provided. Match the type of stiffeners provided in List 1 with the requirement to be
satisfied by them in List 2. (Use the Code in the lists for matching)

QUEbliUII 1D . 0l01011Us55
Status : Not Answered
Chosen Option : --

Q.19 Identify the property that changes as a function of the geometrical dimensions of a section in structural materials.

1. Modulus of elasticity

Question ID : 81616110313
Status : Answered
Chosen Option : 3




Q.20 The maximum effective slenderness ratio for the compression flange of a steel beam against lateral torsional buckling as
per IS 800-2007 is:

Ans X1 180
v 2300
< 3400
X 4250

Question 1D : 81616110030
Status : Not Answered
Chosen Option : --

Q21 Which of the following is Kharif season in India?
Ans . March/April to June/July

[y

N

. October/November to April/May

w

. December/January to April/May

N

- May/June to October/November

Question ID : 8161619987
Status : Not Answered
Chosen Option : --

Q22 Which of the following methods is NOT used for finding deflection of beam?
Ans 1. Strain energy method
< 2. Moment area method

3. Castigliano’s method

« 4 Moment distribution method

Question 1D : 81616110015
Status : Answered
Chosen Option : 4

Q.23 Inmix design for M25 concrete, the assumed standard deviation for estimation of target mean strength of concrete mix,
as recommended by IS 456 : 2000 is (in N/mmz):

Ans X1 4.5
X 250
X335
v 40

Question ID : 81616110223
Status : Not Answered
Chosen Option : --




Q.24 What is the permissible limit of organic matter present in water for mixing concrete as per IS 456-2000?
Ans 1. 200 mg/l

2. 3000 mg/l

3. 400 mg/l

4. 2000 mg/l

Question 1D : 81616110020
Status : Answered
Chosen Option : 1

Q25 A reinforced concrete beam is subjected to the following bending moments.
Moment due to dead load = 50 kNm
Moment due to live load = 50 kNm
Moment due to seismic load = 20 kKNm

The design bending moment for limit state of collapse is:
Ans X1 120 kKNm
& 2. 144 kNm
v 2 150 kNm
& 4 180 kKNm

Question 1D : 81616110328
Status : Answered
Chosen Option : 3

Q.26 Which of the following actions is NOT a permanent adjustment in case of transit theodolite?

Ans « 1.

Bringing the vertical axis of the theodolite exactly over the station mark
x 2

Axis of the telescope level adjusted to parallel to the line of collimation
X 3.

Axis of the plate level adjusted to perpendicular to vertical axis
X 4.

Horizontal axis is perpendicular to vertical axis when the instrument is levelled

Question ID : 81616110166
Status : Not Answered
Chosen Option : --




Q27 The soils transported and deposited by a river or a stream are called:

Ans X1 geolian soils
< 2. marine soils
#< 3. lacustrine soils
'« alluvial soils

Question ID : 8161619970
Status : Answered
Chosen Option : 4

Q.28 Select the correct statement with respect to an over-reinforced cement concrete section under the working stress method.

Ans x 1.
Tensile steel stress and maximum compressive stress in concrete simultaneously reach their allowable limits.
K2
The tensile stress in steel reaches the allowable limit before the maximum compressive stress in concrete reaches the
allowable limit

v
The allowable limiting stress is reached in concrete before the steel stress reaches the limiting value
x 4.
The compressive stress in steel reaches the allowable limit before the maximum tensile stress in concrete reaches the
allowable limit

Question ID : 81616110028
Status : Answered
Chosen Option : 3

Q29 The amount of cement required for 100 m? area, of damp proof course with 2.5 cm thickness, in with proportion of
1:2:4 (cement :sand : aggregate) will be:

Ans L 25m3

2 0.55m’
S L10m’

4 0.25m°

Question ID : 81616110152
Status : Answered
Chosen Option : 2

Q30 In which type of estimate is ‘Court yard’ NOT considered?
Ans 1. Lump sum estimate

7< 2. Cube rate estimate
« 3 Plinth area estimate
< 4. Unit rate estimate

Question ID : 8161619948
Status : Not Answered
Chosen Option : --




Ans

Ans

Ans

Ans

[N

. foresight and back sight

. back sight and intermediate sight
- back sight and fore sight

. intermediate sight and back sight

N

w

~

X1 0.155m
X 2 0.552m
3 0225m
v 4 0.100 m

Q33 The Indian Roads Congress (IRC) was founded in the year:

X 11927
< 2 1950
v 3 1934
< 4 1982

Q34 Saturated unit weight of soil is the ratio of:

=

. total void to saturated bulk unit weight

N

. total volume to saturated bulk unit weight

w

B

saturated bulk unit weight to total void

Q.31 Ina levelling survey work, the first staff reading taken to a staff station after shifting the instrument and the last staff
reading taken to a staff station before the instrument is shifted are, respectively:

Question 1D : 81616110263
Status : Answered
Chosen Option : 3

Q.32 What is the mechanical extra widening required for a two-lane pavement of width 7 m on a horizontal curve of radius
250 m, if the longest wheel base of a vehicle expected on the road is 5 m with a design speed of 70 km/h?

Question ID : 81616110002
Status : Answered
Chosen Option : 4

Question ID : 8161619996
Status : Not Answered
Chosen Option : --

- bulk unit weight of a soil when it is fully saturated

Question ID : 81616110171
Status : Answered
Chosen Option : 3




Q35 What is the principle of plane surveying?

Ans 1. Working from point to area

N

. Working from angle to volume

w

. Working from part to whole

~

- Working from whole to part

Question ID : 8161619960
Status : Answered
Chosen Option : 4

Q.36 The following are some of the errors that are associated with a total station survey work.
Vertical collimation error, Centering error, Horizontal collimation error, Eccentricity error
Categorize the given errors as those due to temporary adjustments (T) and permanent adjustments (P).

Ans X 1.
T: Centering error, Horizontal collimation error, Eccentricity error
P: Vertical collimation error
x 2. I: Vertical collimation error, Horizontal collimation error
P: Centering error, Eccentricity error
“ 3.
T: Centering error
P: Vertical collimation error, Horizontal collimation error, Eccentricity error
<+ T: Eccentricity error, Horizontal collimation error,
P: Centering error, Vertical collimation error

Question 1D 81616110266
Status : Not Answered
Chosen Option : --

Q.37 According to IS 800 : 2007, identify the property which is considered as a mechanical property of structural steel.
important in design.

Ans X 1. Poisson ratio
# 2. Unit mass
3. Maximum per cent elongation on a standard gauge length

4. Co-efficient of thermal expansion

Question ID : 81616110331
Status : Answered
Chosen Option : 3




Ans

Ans

Ans

Ans

1. setting time

« 2. soundness value
3. fineness value and setting time

4. 28 day compressive strength

S2: Rigid pavements are less affected by temperature variations than flexible pavements.

/< 1 Both statements S1 and S2 are true

/< 2. Statement S1 is false and Statement S2 is true
' 3 Statement S1 is true and Statement S2 is false

#< 4 Both statements S1 and S2 are false

runner computed by Taygun’s formula is:

v 120
X2 25
< 3 10
X 415

Q41 The overflowing sheet of water on a weir is called:

< 1. crest
< 2. creek
« 3 nappe
& 4 limb

Q.38 The basis for classification of ordinary Portland cement (OPC) as grade 33, 43, and 53 as per IS 10262 is:

Question 1D : 81616110239
Status : Answered
Chosen Option : 4

Q.39 Select the correct option with regard to the following statements (S1, S2) pertaining to pavements.

S1: Present serviceability index is used for the functional evaluation of pavement surface condition.

Question ID : 81616110303
Status : Not Answered
Chosen Option : --

Q.40 APelton wheel is to be designed for a pitch diameter of 1 m and jet diameter of 0.1 m. The number of buckets on the

Question ID : 8161619986
Status : Not Answered
Chosen Option : --

Question ID : 81616110180
Status : Not Answered
Chosen Option : --




Ans

Ans

Ans

Q42 What s the effect of fly ash in concrete?

' 1 Reduces the heat of hydration
/< 2. Increases the heat of hydration

/< 3 Increases the amount of air entrainment
/< 4 Reduces the secondary hydration process

List for matching.

List 1 List 2
M. Dynamic viscosity 1. N/m
N. Kinematic viscosity 2. N.m
O. Surface tension 3. N.s/m?
P. Energy 4. m¥s

X1 M-3,N-4,0-2,P-1
v 2M-3,N-4,0-1,P-2
X 3 M-4,N-3,0-1,P-2
X4+ M-2,N-40-1,P-3

Q44 The failure of an over reinforced concrete beam is due to:

X 1 tension failure
v compression failure

& 3 shear failure
< 4 mid failure

Question ID : 8161619942
Status : Not Answered
Chosen Option : --

Q.43 Match the items in List 1 (names of quantities) with those in List 2 (units of quantities in the SI system). Use codes in

Question ID : 81616110252
Status : Answered
Chosen Option : 2

Question ID : 81616110226
Status : Answered
Chosen Option : 1




Q.45 The bearing of a line AB is 150°15” and the angle ABC between line AB and BC is 110°30" as shown in the given
figure.

‘What is the bearing of line BC?
Ane XK 1 440°45°
X 279015
< 3 330°15°
v ¢ 80°45°

Question 1D : 81616110167
Status : Answered
Chosen Option : 4

Q.46 A canal was designed for a full supply discharge of 60 cumec. The average supply discharge in the canal is 40 cumec.
The capacity factor of the canal is:

Ans - X 1.4.00
v 2 0.67
X 3 6.0
X 4045

Question ID : 8161619993
Status : Answered
Chosen Option : 2

Q.47 The ability of a material to endure alternate wet and dry conditions for a long period without considerable deformation
and loss of mechanical strength is called:

Ans X 1 frost resistance

« 2 weathering resistance

X 3 chemical resistance
X 4 fire resistance

Question ID : 8161619936
Status : Answered
Chosen Option : 1

Q.48 Which of the following Indian Standard Codes provides conservatively imposed loads for buildings and structures?

& 1 IS 875 (part 1)-1987
< 2 IS 875 (part 4)-1987

v 5 1S 875 (part 2)-1987
X 4. IS 875 (part 3)-1987

Ans

Question ID : 81616110012
Status : Not Answered
Chosen Option : --




Q.49 The saturation capacity. field capacity and the permanent wilting point of a soil are 47%, 27% and 14%, respectively.
The available moisture for the crops grown in the soil is:

Ans - X1 339%
v 2 13%
& 3 20%
X 4 27%

Question 1D : 81616110287
Status : Not Answered
Chosen Option : --

Q.50 Which of the following laws states that pressure or intensity of pressure at a point in static fluid is equal in all
directions?

Ans X" 1. Newton's law
' 2 Pascal’s law
X 3. Hydrostatic law

X 4 Darcy’s law

Question 1D : 81616110184
Status : Answered
Chosen Option : 2

Q.51 No deduction is made in the quantity estimation for plastering work in cement mortar for openings having size up to:

Ans X 1. 31n2
X2 1 om?

X 3075 m?
v i 0.5m?

Question 1D : 81616110248
Status : Not Answered
Chosen Option : --

Q.52  Avillage has a population of 200 with an average rate of water demand as 100 litre per capita per day. A rapid sand

filter having an average filtration rate of 100 litre/hour/m? is to be designed for water treatment. The area of rapid sand
filter required is:
(Take the ratio of maximum demand to average demand as 1.5.)

Ans

2 1 10.00 m2
v 2 1250 m?

X3 1450 m2
& 4 8.00 m?

Question ID : 81616110211
Status : Answered
Chosen Option : 2




Q.53 Inan incompressible static fluid column, the rate of increase of pressure in the vertical direction is equal to weight
density of fluid at that point. Which of the following is the law for this statement?

A of 1 Hydrostatic law

/< 2 Viscosity law
X 3 Bernoulli’s law
X 4 Pascal’s law

Question ID : 8161619982
Status : Answered
Chosen Option : 1

Q.54 In limit state design, the design bond stress for deformed bars (conforming to IS 1786) for M20 concrete mentioned in
IS 456 : 2000 is (in N/mm? units):

Ans - X112
X218
v 3192
X 4 1.68

Question 1D : 81616110324
Status : Not Answered
Chosen Option : --

Q.55 Which of the following can be considered as a taking off point in road planning in India?
Ans

& 1 Bombay plan
v, Nagpur plan

& 3. Lucknow plan
/< 4 Delhi plan

Question 1D : 81616110197
Status : Not Answered
Chosen Option : --




Q.56 The determination of plasticity index and the percentage by weight of clay mineral finer than 2 u present in the soil
were done for two soil samples A and B. The ratio of plasticity index to the percentage of clay size particle for the
samples A and B are given in the table.

Soil Ratio of plasticity index to
sample percentage of clay size
particle

Sample A | Less than 0.75
Sample B | Greater than 1.25

The two soil samples A and B are classified as:

Ans 1. Sample A: Active: Sample B: Normal
2. Sample A: Inactive; Sample B: Active
3. Sample A: Normal; Sample B: Inactive
4. Sample A: Active: Sample B: Inactive

Question 1D : 81616110274
Status : Not Answered
Chosen Option : --

Q.57 Ahorizontal pipeline AB of diameter d conveys water, flowing from A to B. The U-tube manometer with mercury as
manometric liquid can be used for the measurement of:

Ans 1. difference in the velocity between the two points A and B

2. difference in the total energy between two points A and B
v:
difference in the pressure head between two points A and B
4. difference in the kinetic head at the two points A and B

Question 1D : 81616110280
Status : Answered
Chosen Option : 2

Q.58 What will be the depth of penetration of the Plunger in Vicat Apparatus (IS:5513- 1976) from the bottom of the Vicat
Mould, when the cement paste is tested for standard consistency, according to IS 4031-1988?

Ans  of 1. 5t0 7 mm
< 2 8to 10 mm
/3 15t0 17 mm
4 11 to 15 mm

Question ID : 81616110139
Status : Answered
Chosen Option : 1




Q.59 In earth quake resistant design, response reduction factor (R) for steel special moment resisting frame (SMF) design as
per IS 800:2000 is:

Ans - X1 1.5
K225
V350
<2 1.0

Question 1D : 81616110232
Status : Not Answered
Chosen Option : --

Q.60 The following readings were obtained during differential levelling.

Reduced Level (RL) of point A is 240.000 m. The fore sight and back sight between points A and TP1 is 1.420 m and
2.024 m, respectively. Fore sight and back sight between points TP1 and TP2 is 2.100 m and 1.986 m, respectively. The
back sight from B is 1.722 m. These are marked on the given figure. What is the RL at turning point -2 (TP2)?

All values are in metres.

Ans 1 241,202 m
X 2242024 m
< 3 240.604 m
v 4 240.490 m

Question ID : 8161619967
Status : Answered
Chosen Option : 4

Q.61 A real fluid in which the shear stress is directly proportional to the velocity gradient is known as:
Ans o 1. Newtonian fluid
X 2. ideal fluid
3. plastic fluid

< 4. non-Newtonian fluid

Question ID : 81616110179
Status : Answered
Chosen Option : 1




Q.62 A cantilever beam of span L is built-in at the support. It is restrained against lateral deflection and torsion at the free
end. The effective length of compression flange for the beam as per IS 800:2007 is:

Ans X1 0751
X2 085L
X3 2L
v :05L

Question 1D : 81616110234
Status : Not Answered
Chosen Option : --

Q.63  Anewly built house is let out for a rent of T1,000 per month inclusive of all taxes. If outgoings are at 20% of the gross
rent and expected rate of return is 10%, what is the capital value by the rental method of valuation?

Ans 1. 399,600
2. ¥87.600
3. T1,12,300
4. 396,000

Question ID : 8161619959
Status : Not Answered
Chosen Option : --

Q.64 The following two statements pertain to a simply supported under reinforced concrete beam. Select the correct option
with regard to these statements.

1: The failure of the beam takes place due to the yielding of steel.

2: The moment of resistance of the beam is more than that of the balanced section of the beam.

Ans X 1. Both statements 1 and 2 are true
+ 2 Statement 1 is true but Statement 2 is false
#< 3. Both statements 1 and 2 are false
#< 4 Statement | is false but Statement 2 is true

Question 1D : 81616110326
Status : Answered
Chosen Option : 2

Q.65 Ifpisinternal pressure. d is diameter and t is thickness of wall for a thin cylindrical shell, then the value of hoop stress
will be:

Ans 1. pd/4t
2. td/4p
3. pt/ad
4. pd/2t

Question ID : 81616110216
Status : Answered
Chosen Option : 4




Q.66 If the quadrantal bearing of a line AB is S 31°35’ E, then its whole circle bearing is equal to:
A X1 211°25°

X 2 58°25°

X 3 121°25°

v 4 148°25°

Question ID : 8161619964
Status : Answered
Chosen Option : 4

Q67 Which constituent in cement is to be kept minimum to avoid a sulphate attack?
ans o1 C3A

X 2GS

K3 GA

X+ CAF

Question 1D : 81616110219
Status : Not Answered
Chosen Option : --

Q.68  If the bearing of the side AB of a regular hexagon traverse ABCDEFA shown in the figure is 36°45°. the bearing of the
adjacent side BC of the traverse is:

36°45' g c

(3 E

AN of 196°45°
X 2 83015
& 3 216°15°
X 4.156°45°

Question 1D T 81616110267
Status : Answered
Chosen Option : 4




Q.69 Classify the following pollutants as primary pollutants (PP) and secondary pollutants (SP).

Ozone, Carbon monoxide, Particulate matter, Photochemical smog, Nitrogen oxides., Aerosol/mist, Hydrocarbons.
Peroxy-Acetyl-Nitrate, Sulphur dioxide

Ans “ 1.
PP: Carbon monoxide, Particulate matter, Nitrogen oxides, Hydrocarbons, Sulphur dioxide
SP: Ozone, Photochemical smog, Aerosol/mist, Peroxy-Acetyl-Nitrate
x?
PP: Ozone, Photochemical smog, Carbon monoxide, Particulate matter, Nitrogen oxides
SP: Aerosol/mist. Peroxy-Acetyl-Nitrate, Hydrocarbons, Sulphur dioxide
x°
PP: Carbon monoxide, Particulate matter, Aerosol/mist, Peroxy-Acetyl -Nitrate
SP: Nitrogen oxides, Hydrocarbons, Sulphur dioxide, Ozone, Photochemical smog
x*
PP: Ozone, Photochemical smog, Aerosol/mist, Peroxy-Acetyl-Nitrate
SP: Carbon monoxide, Particulate matter, Nitrogen oxides, Hydrocarbons, Sulphur dioxide

QuestiontD——8161611031t
Status : Answered
Chosen Option : 2

Q70 What is the SI unit for dynamic viscosity?

Ans - X 1. Pascal
< 2 Stoke
' 3. Pascal second
/< 2 Newton

Question 1D : 8161619978
Status : Answered
Chosen Option : 3

Q.71 Onaright angle two-lane road intersection with two-way traffic, the total number of potential conflict points are:
Ans “ 1. 24

X 2 44

X3 18

X4 32

Question ID : 81616110000
Status : Answered
Chosen Option : 1




Q72 Select the INCORRECT obstacle in chaining in a chain survey.
Ans 1. Obstacle to both chaining and ranging

2. Obstacle to plotting

3. Obstacle to ranging only

4. Obstacle to chaining only

Question ID : 8161619963
Status : Answered
Chosen Option : 2

Q.73  Aconstruction firm has estimated a net annual rent of ¥90,000 on a building, at the prevailing annual rate of interest of
9%. If the annual interest rate is revised to 5%, determine the increase in the capitalized value of the property.

Ans 1. 210,00,000
2. ¥18.00.000
3. ¥8,00,000
4. %22,50,000

Question 1D : 81616110257
Status : Answered
Chosen Option : 3

Q.74 Among the following corrections applied for tape measurement, identify the correction which is NOT always negative
in sign.
Ans 1. Slope of tape
v 2 pull
/< 3. Sag

4. Wrong alignment

Question 1D : 81616110260
Status : Answered
Chosen Option : 1

Q.75 Among the following river training works, which are aligned either parallel or at an angle to the banks, identify the one
having a difference in alignment when compared to others.

Ans X 1 Guide banks
< 2. Levees
« 3 Groynes
#< 4 Flood walls

Question ID : 81616110290
Status : Not Answered
Chosen Option : --




the vehicle speed of 80 km/h on a rural highway?
Ans K170
X 2 60
V'3 120
< 4 140

20% by weight of particles of size less than 2 microns?

Ans X713
X 20
X3 2

vl

Ans 1. Boulder lining
2. Asphaltic concrete lining
3. Plaster lining

4. Soil cement lining

Ans

X2
with bacteria and odour removal.

(3.
p

Q.76 As per IRC (Indian Roads Congress) recommendation, what will be the designed stopping sight distance (in metres) at

Question 1D : 81616110201
Status : Answered
Chosen Option : 2

Q.77  The liquid limit and plastic limit of clay materials is 45% and 25% respectively, what is the activity of clay materials if

Question ID : 8161619974
Status : Answered
Chosen Option : 4

Q.78 Which of the following CANNOT be considered as a hard surface lining of canal?

Question 1D : 81616110192
Status : Not Answered
Chosen Option : --

Q7% Select the correct statement with respect to a slow sand filter.

L. The rate of filtration is in the range of 100-150 m3/m2/day.

The filtering medium has effective size 0.45 to 0.7 mm, uniformity coefficient 1.3 to 1.7, multiple graded layers of sand

The effective size of sand particles shall be 0.15 to 0.3 mm, and their uniformity coefficient shall be preferably below 3.

Backwashing daily or on alternate days is necessary for cleaning.

Question ID : 81616110009
Status : Answered
Chosen Option : 3




Q.80 Two sewer pipelines A and B (having the same diameter and made of the same material) are laid at a bed slope of 1 in
225 and 1 in 625, respectively. Determine the ratio of their carrying capacities (Q4 to Qg).

Ans X 11
X2

wlon ol v w

Question ID : 81616110308
Status : Answered
Chosen Option : 4

Q81 The valve used for the prevention of reversal of flow in a pipeline is:

Ans  of 1 acheck valve
& 2 an air valve
& 3 ascour valve
/< 4 a butterfly valve

Question 1D : 81616110304
Status : Answered
Chosen Option : 1

Q.82 A continuous beam ABC with span AB =BC =L is shown in the figure. Support A is fixed type. and supports B and C
are roller type. The kinematic indeterminacy of the beam is:

1
4A L AB L AC

Ans X .
v
)
r

[ L, [ A 4

Question ID : 81616110314
Status : Answered
Chosen Option : 4




Q.83 AsperIS 1742-1983. normally a sewer shall be designed for discharging
half-full with a minimum self-cleansing velocity of

Ans X 1 four: 1.75 m/s
W 2 three; 0.75 m/s
& 3 two:; 0.5 m/s
& 4 five; 2.4 m/s

times the dry-weather flow flowing

Question 1D : 81616110007
Status : Not Answered
Chosen Option : --

Q.84 The mass of a chunk of moist soil is 20 kg and its dry density is 1500 kg/m3. ‘What is the void ratio of the soil if the
specific gravity is 2.50 and density of water is 1000 kg/m3‘.’

Ans X1 72.35%
v 2 66.67%
X 3 44.45%
X 4 56.67%

Question ID : 8161619976
Status : Answered
Chosen Option : 2

Q.85 A cantilever of beam of span [ is fixed at one end, the other end resting freely on the middle of a simply supported cross-
beam of the same span and section. If the cantilever beam is now loaded with a uniform load of w per unit length. find
the reaction at the free end offered by the cross beam.

Ans
3

p
17wl

2
K2 —wl

3
X3 Zwl

v i —wil

Question TD T 81616110317
Status : Answered
Chosen Option : 3




Ans

Ans

Ans

Ans

& 1 20cm
& 2 10cm
& 3 25cm
v 2 30cm

X 1 40-50%
X 23-8%
X 3.60-67%

v 4 17-25%

Determine the quantity of earthwork required for a 1 km length of formation (in m?).

& 1 20,000
& 2 24.000

& 3 18.000
- 28,000

Q.86 What is the height of a slump cone mould used for testing the workability of the concrete?

Question ID : 81616110141
Status : Answered
Chosen Option : 4

Q.87 What is the approximate composition of silicon dioxide (SiO,) present in ordinary Portland cement?

Question 1D : 81616110018
Status : Answered
Chosen Option : 4

Q.88 Identify the test to be conducted for the determination of the modulus of subgrade reaction in pavement design.

& © Direct shear test
« 2 Plate bearing test
& 3 CBR test

& 4 Triaxial test

Question 1D : 81616110298
Status : Answered
Chosen Option : 2

Q.89 A level section has formation width of 10 m, side slope of 1 : 2 (vertical : horizontal) and central height of 2 m.

Question ID : 81616110250
Status : Answered
Chosen Option : 4




Q.90 The ratio of compressive strength of a material saturated with water to that in dry state is known as:

Ans X 1. co-efficient of toughness

/< 2. co-efficient of hardness
« 3 co-efficient of softening

X 4 co-efficient of plasticity

Question 1D : 81616110241
Status : Not Answered
Chosen Option : --

Q.91 Anold building has a future life of 15 years. The rate of interest on capital is 7%. If the coefficient of annual sinking
fund is 0.43, then what will be value of year’s purchase?

Ans (1_2
X2 4

P

X 4236

I

Question 1D : 81616110159
Status : Not Answered
Chosen Option : --

Q.92 The determination of shear strength of a soft saturated clay deposit in the field can be done by:

Ans X 1. the triaxial test
« 2 the vane shear test
/< 3. the unconfined compression test

/< 4 the direct shear test

Question 1D : 81616110272
Status : Answered
Chosen Option : 2

Q.93  AsperIS 456 : 2000, the minimum grade of concrete to be used for plain concrete and reinforced concrete, respectively.
in concrete works exposed directly along the sea coast are:

A of 1 M20 and M30
& 2. MI15 and M25

#< 3. M20 and M25
< 4. M25 and M40

Question ID : 81616110321
Status : Not Answered
Chosen Option : --




Q94 Which of the following compounds of cement is responsible for early strength?
Ans  of 1. C3S

X 2GS

X 3. C4AF

4 GA

Question 1D : 81616110145
Status : Answered
Chosen Option : 1

Q.95 Sewers must be checked for minimum velocities at their minimum hourly flows which is equal to:

Ans X 1. 1/4 average daily flows
« 2 1/3 average daily flows
/X 3. 1/2 average daily flows
/X 4 average daily flows

Question 1D : 81616110004
Status : Not Answered
Chosen Option : --

Q.96 An airport runway fill needs 8,50,000 m?> of soil compacted to void ratio of 0.7. The required soil is to be taken from a

borrow pit having an in situ void ratio of 0.8. If the transportation cost is T10 per m?, estimated cost for the filling work
is(in?):

Ans X1 50,00,000
X 2. 82,00,000
X 3 85,00,000
W 4 90,00,000

Question 1D : 81616110252
Status : Answered
Chosen Option : 4

Q.97  The annual or periodical payment for repayment of the capital amount invested on a property for a specified period is
known as:

A
" X 1 obsolescence

« 2 annuity

& 3 depreciation
X 4. amortisation

Question ID : 8161619956
Status : Answered
Chosen Option : 2




Q.98 Which of the following methods is NOT used for the calculation of depreciation of a structure?

A 1 Straight line method
< % Declining balance method
' ° Geometric projection method

2 * Quantity survey method

Question 1D : 81616110255
Status : Answered
Chosen Option : 3

—
Q99 Kor watering in irrigation is defined as:

Ans J 1.

the first watering which is given to a crop when the crop is a few centimetres high
x 2

the first watering which is given to a plot when the crop is transplanted
X 3.

the first watering which is given to seeds sown in the plot for germination
x 4.

the first watering which is given to a crop before transplanting

Question ID : 8161619990
Status : Answered
Chosen Option : 3

Q100 Pigment volume concentration (PVC) of paint is defined as:

) volume base in paint
 total volume of non volatile constituents of paint

v volume of pigmnet in paint

total volume of non volatile constituents of paint

x 3 volume of vehicle in paint
total volume of non volatile constituents of paint

x4 volume of pigment in paint

total volume of volatile constituents of paint

Question 1D : 8161619947
Status : Answered
Chosen Option : 2
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Select t he correct option t hat indicat es t he arrangement of t he given words in t he order in which
they appear in an English dictionary.

. Numerable
. Nobody

. Nuclear

. Nobilit y

. Nominat ive

Ans J1.4, 2,531
& 245231
K 3.41,253
K 441,532

a b~ wWwN -

Question 1D : 81616110041
Status : Answered
Chosen Option : 1

Q.2 ‘Assam’ is related to ‘Dispur’ in the same way as ‘Bihar’ is related to * i

Ans x 1. Amaravati

x 2. Ranchi
J 3. Patna
x 4. Itanagar

Question 1D ; 8161619845
Status : Answered
Chosen Option : 3

Q.3  Which two signs should be interchanged to make the given equat ion correct ?

1496 x8 + 13-40+5=0

Ans x 1.—and +

x 2.xand +

“ 3. xand +

x 4.+ and +
Question 1D : 81616110074

Status : Answered
Chosen Option : 3




Q.4 1f COMB is coded as 29 and LEMON is coded as 54, t hen how will SHIFT be coded?Ans

X 155
W 257
/5 3.58
X 456

Question ID : 81616110056
Status : Answered
Chosen Option : 2

Q5 Select the option that is embedded in the given figure (rotation is NOT allowed).

Question ID : 8161619581
Status : Answered
Chosen Option : 1




Q6 Select the option in which the given figure is embedded (rotation is NOT allowed).
Ans

< | qZ

=

X2

X s

i Y

Question ID : 81616110080
Status : Answered
Chosen Option : 4
Q.7 Choose the pair that best represents a similar relationshipto the one expressed inthe
original pair of words.
Baseball : Diamond

Ans x 1. Boxing : Court

« 2. Curling : Rink

x 3. Hockey : Ring

x 4. Golf : Arena

Question ID : 8161619750
Status : Answered
Chosen Option : 4




Q.8 What was t he day of t he week on 28 May 2007?ANS
x 1. Wednesday
x 2. Tuesday
« 3. Monday
x 4. Sunday

Question ID : 8161619577
Status : Answered
Chosen Option : 1

Q.9 3 farerey 1 T & WY HER reg § IEt HehR Haifd 2 e werie g@T 2res uget oreg @
Hdfdag?

ﬁﬁ:aﬂfaﬂ o i?
Ans X1 R
fz.ﬁﬂ—aﬁ
75 3. B

K g e

Question 1D : 81616110046
Status : Answered
Chosen Option : 2

Q.10 Select the option thatis related to the third number in the same way as the second
number is relat ed t o t he first number and t he sixt h number is relat ed t o t he fif t h number.

8:1024 ::9:7::11:2662
Ans X1 1356
X 2. 1686
W 3. 1458
X 4 1202

Question-1D-.-8161619571
<

Status : Answered
Chosen Option : 3




Q.11 Select the correct mirror image of the given combination when the mirror is placed at PQ' as shown.

Qrmg5N

Q

“NepmiD
-Uepmi1O
-UNSpw10
‘Nepwi19

Ans

Question ID : 8161619582
Status : Answered
Chosen Option : 2

Q12 Select the option in which the given figure is embedded (rotation is NOT allowed).

i
"

Question TD T 8161619379
Status : Answered
Chosen Option : 1




Q.13 U WIEHUTE FI 31T Hehd hed §Q, @ - gl , «TF A &13T & geheltd O Sl Tait 871 A ot
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Ans K" 1 arar
v
P
X a

Question ID : 81616110063
Status : Answered
Chosen Option : 2

Q.14 Select the option that is related to the third term in the same way as t he second t
erm is related to the first term.

GARDEN : RFGNJD :: GLUTEN : ?
Ans K1 GTQUNJ

75 2. UGGNZT

W 3. uoGniT

X 4 GUQTIN

Question 1D : 81616110053
Status : Answered
Chosen Option : 3

Q.15 In a certain code language, MEND is written as LCKZ and SORDID is written
as RMOZDX. How will COMPLEX be written in that language?

Ans X1 BMHMGYQ
X 2. BMHLGZR
/5 3. BOJLHYR

“ 4.BMILGYQ

Question 1D : 8161619554
Status : Answered
Chosen Option : 4

Q.16 Select t he option t hat is relat ed t o t he f ourt h number in t he same way as t he first number is
related to the second number and t he fifth number is related to the sixth number.

59:13::7:17::99:21
Ans X1 49
W 270
X 369
X 439

Qllgstlnn 1D-.-8161619570.

Status : Not Answered
Chosen Option : --




Q.17 In a certain code language, LOTION is written as ORWJRQ and DENSE is written as
EFQVF. How will CRANK be written in that language?

Ans X1 ESCQP
W 2. puson
25 3. zopPQB
X 4 MTXOR

Question ID : 8161619555
Status : Answered
Chosen Option : 2

Q.18 Select t he let t er-clust er f rom among t he given opt ions t hat can replace t he question
mark (?) in the following series.

FRAUDS, SFRAUD, SDFRAU, ?, SDUAFR,
SDUARF Ans X 1 SUDFAR
o 2. sDuFrRA
75 3.SDFURA

75 4.SDUFAR

Question ID : 8161619539
Status : Answered
Chosen Option : 2

Q.19 Select the option that is related to the third term in the same way as t he second term
is related to the first term.

SOAP : WHVZ :: HOME : ?
Ans X 1 1TSD

X 2.KSRP
W 2Lmvo
X 4.3TUO

Question ID : 8161619551
Status : Answered
Chosen Option : 3

Q.20 Which letter cluster will replace the question mark (?) in t he following series?

SUGAR, PUGAR, PYGAR, PYDAR, PYDER, ?
Ans X 1 PYDEN

o 2.pPYDEO

/X 3.PYEDN

X 4.PYEDO

Question 1D : 8161619840
Status : Answered
Chosen Option : 4




Q.21 Select the option that is related to the third term in the same way as t he second term
is related to the first term.

PUBLIC : UPHRCI :: UPWARD : ?
Ans X' 1 PUDHDR

X 2.PUGCRD
W 3.PucGDR

& 4.UPGCDR

Question ID : 8161619852
Status : Answered
Chosen Option : 3

Q.22 Which number will replace t he question mark (?) in the following series?

3,3,11,19,59, ?

Ans X1 151
X 2121
& 3112
W 2115

Question ID : 8161619866
Status : Not Answered
Chosen Option : --

Q.23 Select t he opt ion in which t he numbers are relat ed in t he same way as are t henumbers
in the given set.

(541, 14, 737)
Ans V' 1. (697, 13, 866)
X 2747, 25, 1423)
< 3.(651, 16, 940)

X 4.(832, 8, 887)

Question 1D : 81616110073
Status : Not Answered
Chosen Option : --

Q.24 There are t wo numbers. The first number is 120 more t han t he second number. The average of

t he t wo numbers is 80. If 20 is added t 0 bot h t he numbers, find t he rat io of t he new
numbers.

Ans X 131
2211
X o31:3
Xoa2:1

Question ID : 81616110076
Status : Answered
Chosen Option : 2




Ans

[
\

X
<

< <5

<

0

00

0

xs| 0

Q25 A paper is folded and cut as shown below. How will it appear when unfolded?

Question ID : 8161619883

Status : Answered
Chosen Option : 4

ting to the immediate left of A. C issitting to the immediate right of B. B is not
sitting adjacentto A. Who is sitting second to the right of D?

W LE
X o2A
X 3B
X oac

Q.26 Five friends, A, B, C, D and E, are sit ting around a circular table facing t he centre. D is sit

Question ID : 8161619564
Status : Not Answered
Chosen Option : --




Q.27 A cube is made by folding the given sheet along the lines. In the cube so formed, which letter will be on the face
opposite the face showing the letter B?

[a

OUN'HI

5]
Ans XL A
v F
X3 D
X4 E

Question ID : 8161619878
Status : Answered
Chosen Option : 2

Q.28 Select the option thatis related to the third number in the same way as t he second
number is relat ed t o t he first number and t he sixt h number is relat ed t o t he fif t h number.

13:170::15:?::17 : 290

Ans X1 208
X 2207
v 3 2
X 4229

Question-1D--81616110069
<

Status : Not Answered
Chosen Option : --

Q.29 Which letter will replace t he question mark (?) in the following series?

F,J,D,H,B,F,?

Ans o 17
X2
X 3.
X oay

Question ID : 81616110036
Status : Answered
Chosen Option : 1




Q.30 Which t wo numbers and which t wo signs should be int erchanged t o make t he given equat
ion correct?

15+ 7 x75-45+ 25 =147
Ans “ 1.45 and 75; + and x
x 2.15 and 45; x and —
x 3.45and 25; + and +

x 4.15and 75; + and +

Question ID : 8161619575
Status : Not Answered
Chosen Option : --

Q.31 Pankaj is the son of Rajesh and Sapna, while Deepa is t he only granddaught er of
Sheela who is t he mot her of Prakash and Sapna. If Prakash is unmarried and is t he
brother of the wife of Rajesh, then how is Pankaj related to Deepa?

Ans x 1. Maternal uncle

x 2. Grandfather

( 3. Brother

x 4. Paternal uncle

Question ID : 81616110062
Status : Not Answered
Chosen Option : --

Q.32 Ina certain code language, FALSE is coded as 626121922 and PROTEST is codedas
16181220221920.How will INDUCE be coded in t hat language?

Ans K1 914421322
“ 2. 181446322
X 3. 181347322

X 4 161442135

Question 1D : 8161619557
Status : Answered
Chosen Option : 2

Q.33 Select t he correct option that indicat es t he arrangement of t he given words in t he order
in which t hey appear in an English dictionary.

. Distilled

. Dist ance

. Distinguish
. Dissolve

. Dispense

. Disclose

Ans X165 4,23 1
W 26524213
7% 36,5241 3
X 4546213

o0 WN

Question ID : 8161619544
Status : Answered
Chosen Option : 2




Q.34 Select t he number f rom among t he given opt ions t hat can replace t he quest ion
mark (?) in the following series.

61, 66, 73, 84, 97, 114, ?, 156

Ans \f 1.133
X 2,129
X 3125
X 4152

Question ID : 8161619567
Status : Answered
Chosen Option : 1

Q.35 9 faerey &1 o= fifrg ot fag my 2rsal @ g anfdhar aite anfgef e -famgme garfar 81

1. ST

2. g5ft &R

3. urit & @
4. g@T

5. el

Ans X' 11352 4
W 2351402
X 3.3,1,5024
X 41,3542

Question 1D : 81616110044
Status : Answered
Chosen Option : 2

Q.36 Select t he option t hat is correct f or t he bracket ed let t ers wit h respect t o t heirinclusion in
the given series.

F, U, 17,H,0,13,J,1,11, (L),E, 7, N, (A), 5

Ans x 1. T he first bracketed letter is correct and the second bracketed letter is incorrect.
“ 2. Both the bracketed letters are correct.
x 3. Both the bracketed letters are incorrect.

x 4. T he first bracketed letter is incorrect and the second bracketed letter is correct.

Question ID : 8161618937
Status : Not Answered
Chosen Option : --




ollow(s) from the statements.

Statements:
1. No rat is a jar.
2. All jars are gloves.

Conclusions:

1. No ratis a glove.

I1. No glove is a rat.

I11. Some gloves are jars.
IV.All gloves are jars.

x 4. Only conclusion | follows

given pair of words.

Numismat ics : Coins

Ans “ 1. Anthropology : Humans
x 2. Taxonomy : Fossils
x 3. Semantics : Soils

x 4. Orography : Eggs

given pair of words.

Oncology : Cancer

Ans x 1. Food : Bromatology
x 2. Histology : Birds
“ 3. Mycology : Fungi

x 4. Seismology : T issues

Q.37 Two statements are given, followed by four conclusions numbered I, I, 111, IV.
Assuming t hat t he inf ormat ion given int he st atement's is true, evenif it appears t obe at
variance wit h commonly known f act s, decide which of t he given conclusions logically f

Ans x 1. Both conclusions I and I1 follow
( 2. Only conclusion 111 follows

x 3. Both conclusions | and 1V follow

Question ID : 8161619859
Status : Answered
Chosen Option : 2

Q.38 Select the option in which the words share t he same relat ionship as t hat shared by the

Question 1D : 81616110048
Status : Answered
Chosen Option : 1

Q.39 Select the option in which the words share the same relat ionship as t hat shared by the

Question ID : 8161618949
Status : Answered
Chosen Option : 3




Ans

Ans

Ans

Q.41 99 farrea w1 F@A =

Q.40 Six players, Aravind, Biswant h, Karun, Dilip, Jayant h and Manohar, are sitting in t wo

rows, t hree in each row. Jayant his not at the end of any row. Dilipis second to t heleft of
Manohar. Karun, t he neighbour of Jayant h, is sit t ing diagonally opposite t o Dilip. Biswant

his t he neighbour of Manohar. Af ter int erchanging Dilip wit h Jayant h,who will be the

neighbour(s) of Dilip in the new position?
x 1. Manohar and Biswanth
x 2. Only Aravind
x 3. Only Biswanth

“ 4. Karun and Aravind

foraeT : O 2
25 1. gsu

X 2.

X 3

o TR R

Q.42 Select t he correct option t hat indicat es t he arrangement of t he given words in a logical

and meaningf ul order.
1. India

2. Guntur

3. Asia

4. Bapat la
5.Andhra Pradesh

2 1.3,1,542
V2315214
X 3.4,2 1,53
2K 44,2531

Question ID : 8161618965
Status : Not Answered
Chosen Option : --

Question 1D : 8161618947
Status : Answered
Chosen Option : 4

Question ID : 8161619742
Status : Answered
Chosen Option : 2




Q43 37 37 3@ & ITT HY, JAF U a1C IO F o geut F g 3=ET R AT 2

Ans

KoL

QDO

QuestiontD——8161618984
Status : Answered
Chosen Option : 3

Q.44 Which letter cluster will replace the question mark (?) in t he following series?

MEND, MHNG, MKNJ, ?,
MQNPANS x 1. MMNN

25 2. MNMN
75 3. NMNM
v RV

Question ID : 8161619138
Status : Answered
Chosen Option : 4




Q.45 Select the set of classes the relationship among which is best illustrated by the given Venn diagram.

Ans

< 1. Fathers, Sons, Males
+ 2 Educated, Doctors, Mothers
3. Illiterates, Engineers, Graduates

75 2. Mothers, Males, Sons

Question ID : 8161619585
Status : Answered
Chosen Option : 1

Q.46 Which number will replace t he question mark (?) in the following series?

8,12, 19, 31, 50, 80, 123, 183, ?

Ans X1 204
X 2242
W 326
y

Question ID : 8161619868
Status : Not Answered
Chosen Option : --

Q.47 Manyak travels 20 km west wards and then turns left and travels 12 km. He then
turns left again and travels 55 km. How far is Manyak now from the starting point ?

Ans X1 36 km
W 2.37km
X 3.27km
25 4.23km

Question ID : 81616110060
Status : Answered
Chosen Option : 3




Q.48 Select t he opt ion in which t he numbers are relat ed in t he same way as are t henumbers
in the given set.

(7, 14, 49)
Ans \f 1. (9, 19, 100)
X 2.8, 18, 90)
X 3.6, 12, 60)
X 415, 30, 84)

Question ID : 8161619572
Status : Not Answered
Chosen Option : --

akes a left turn and drives 8 km. She then takes a right turn and drives 6 km to reach
her office. What is t he short est dist ance bet ween her home and her office?

Ans X1 22 km
X 2.15km
W 3. 17km
X4 14km

Q.49 Zoya starts driving her car from her home and drives 9 km towards the east. Thenshe t

Question ID : 8161619561
Status : Answered
Chosen Option : 3

Q.50 Two Statements are given, followed by Two conclusions numbered | and I1.

variance wit h commonly known f act s, decide which of t he given conclusions logically f
ollow(s) from the statements.

Statements:

1. Some engineers are players.
2. All players are at heists.

Conclusions:

1. All at heist s are players.
11. All engineers are at heist s.

Ans x 1. Both conclusions | and Il follow
“ 2. Neither conclusion I nor Il follows
x 3. Only conclusion Il follows

x 4. Only conclusion 1 follows

Assuming t hat t he inf ormat ion given in t he st atement's is true, evenif it appears t obe at

Question ID : 8161618958
Status : Answered
Chosen Option : 2

Section : General Awareness




Q.1 In the context of national parks and t heir locat ions, which of t he following pairs is
correct?

Ans ( 1. Keibul Lamjao — Manipur
X 2. Ranthambhor — Mabharashtra
X 3. Silent Valley — Karnataka

X 4. Gir — Rajasthan

Question ID : 8161619021
Status : Answered
Chosen Option : 1

Q.2 Who among t he following coinedthe term ¢ prot oplasm’ to define t he fluid subst anceof a
cell, the fundament al organizat ional unit of life?

Ans X' 1. Theodor Schwann
“ 2. J.E Purkinje
< 3. Rudolf Ludwig Carl Virchow

X 4. Matthias Jacob Schleiden

Question 1D : 8161619408
Status : Answered
Chosen Option : 2

Q.3 Deficiency of in diet causes goiter.
Ans X 1. vitamin D

X 2. calcium
X 3. vitamin C
( 4. iodine

Question ID : 8161619811
Status : Answered
Chosen Option : 4

Q.4 Which layer of soil cont ains humus t hat makes t he soil fertile?
Ans ( 1. Topsoil

X 2. Subsoil

X 3. Parent rock

X 4. Weathered rock material

Question ID : 81616110117
Status : Answered
Chosen Option : 1




Q.5 March is celebrated as World Wat er Day.

Ans f 1.22
X 2.2
X 324
X 426

Question ID : 8161619420
Status : Answered
Chosen Option : 1

Q.6 Which of the following Articles of the Constitutionof India deals wit hthe abolit ionof t
itles?

Ans X1 Article5
25 2. Article 43
25 3. Article 26
( 4. Article 18

Question ID : 8161619932
Status : Answered
Chosen Option : 4

Q.7 In November 2020, Madhya Pradesh’s Nat ional Park has been declared a
UNESCO Biosphere Reserve.

Ans X 1. Pench

“ 2. Panna
X 3. Satpura

X 4. Mandla Plant Fossils

Question ID : 8161619193
Status : Answered
Chosen Option : 2

Q.8 Which of t he following organisms belongs to the kingdom ¢ Monera’?Ans
X 1. Bread mould
X 2. Mushroom

( 3. Bacteria
X 4. Fungi

Question ID : 8161619897
Status : Answered
Chosen Option : 3




Q.9 Which of the following submarines did India gift to Myanmar?
Ans X 1.INS Magar

X 2. INS Guldar

X 3. INS Jalashwa

o 2. INs sindhuvir

Question ID : 8161619588
Status : Not Answered
Chosen Option : --

Q.10 Which of t he f ollowing organisat ions/t hink t anks launched India’s first indigenously
developed digit al asset management and st orage plat f orm called ¢ DigiBoxx’ in
December 20207

Ans X 1. Observer Research Foundation
X 2. T he Institute of Peace and Conflict Studies

X 3. Research Foundation for Governance in India

( 4.NIT I Aayog

Question 1D : 81616110091
Status : Not Answered
Chosen Option : --

Q.11 Which of t he following is a variet y of cof fee beans, mainly produced in Sout h India?/Ans

X 1. Kalabati
« 2. Arabica

X 3. Aizon
X 4. Dubraj

Question ID : 8161619015
Status : Answered
Chosen Option : 2

Q.12 Beriberi occurs due to the deficiency of :

Ans x 1. Vitamin B3
V 2. Vitamin B1
25 3. Vitamin B2

X 4. Vitamin B6

Question ID : 8161619807
Status : Answered
Chosen Option : 2




Ans

Ans

Ans

Ans

Q.13 What is t he name of t he polit ical part y f ounded by Jagjivan Ram in 1977, which
merged with the Janata Party?

( 1. Congress for Democracy

X 2. Janata Dal
X 3. Congress (Jagjivan)

¥ 4. Lok Dal

Q.14 Puga Valley of Ladakh has a/an:

X 1. nuclear power plant

X 2. oil field

X 3. steel plant under SAIL

( 4. geothermal power plant

X1
v
X 3.
< 4.

fepami

X réf
fz.émtnﬁ

X 3. e SHEE
25 4. ofm et

Question ID : 8161619233
Status : Answered
Chosen Option : 2

Question ID : 8161619613
Status : Not Answered
Chosen Option : --

TR G fRIfa & e arik | S atferftsT i vafe omgfd ure & A erawee gl

H|

Question 1D : 8161619399
Status : Not Answered
Chosen Option : --

Q.16 19457, fada# it TR T # 1S SR I R AT &9 & forg g ol vt

Question ID : 8161619924
Status : Answered
Chosen Option : 3




Ans

Ans

Ans

Ans

Q.17 Hwiy arw fAmferfaa # & fore goae & sras &2

X L

2K 2. Agw.g g sifts R
( 3. g gferaded urgH MR
X 4. ST TaTR

Q.18 'TfFIMAYA (Uveit is) 71 w1=1 2R o Tomer aiv & weifaa g2

5 L s
X 25
v

r

Q.19 ' WITHT ATFGATE hi Tk fohd ATAT 1T &'

? TAUA g

¥ S TR
X 2

3.

X 4

15 79
adr

Q.20 Which of t he f ollowing is known as t he brain of t he computer?

2 1.ROM
W 2.cru
X 3. RAM
X a.ALU

Question 1D : 8161619627
Status : Answered
Chosen Option : 3

Question 1D : 8161619198
Status : Not Answered
Chosen Option : --

Question 1D : 81616110123

Status : Not Answered
Chosen Option :

Question ID : 81616110086
Status : Answered
Chosen Option : 2




Q.21 , WTed & |rdwf-ren w@reg giaura § @eod), aars qurdt safre g o @emao
ford=roT Rt wetaTa ot it Tt &\ o feRat T ek i sRE &1

Ans  off 1
X 2
X 3.
X 4

Question 1D : 8161619597
Status : Answered
Chosen Option : 3

Q.22 The HIV virus destroys__ thus weakening t he immunity of a person.
Ans x 1. erythrocytes

x 2. mast cells

V 3. lymphocytes

X 4. platelets

Question 1D : 81616110107
Status : Answered
Chosen Option : 3

Q.23 In October 2020, India gifted 41 ambulances and 6 school buses to various
government organisat ions and NGOs working in the field of healt h and educat ion in

Ans X 1. Pakistan

X 2. Bangladesh
x 3. Bhutan
( 4. Nepal

Question 1D : 8161618991
Status : Answered
Chosen Option : 4

Q.24 FAHHDT (t halassemia) T &2

Ans X1 3o ugat F HivE e v @ Hiee
X 2. U TR w5 G e R
X 3. 05 TR o g R

( 4. U WehI ol 4RI Toh fdehR

Question ID : 81616110102
Status : Answered
Chosen Option : 4




Q.25
Ans

Q.26
Ans

Ans

Ans

FeRfeta Feifa & d@ef # @are, (Quad) FT EIaT 82
W 1 75 iR S SRR sk wRa & g sRTaiRe iR )

K 2. 7 FARF SIUF gEREE 3R WA & &t g IR O Ea g,

X 3.7 aife dEam ST ok YRa & T U s s T,
|
< 4,78 aiRa SO iR ok IR & A U artTaTRE o e 8

Question ID : 81616110093
Status : Not Answered
Chosen Option :_--

2011 Y STATOTT & gER foRe wrew # WA | Has v annifim s g ot 2
X 1 s weR
F. 3
X s
v

Question 1D : 81616110121
Status : Answered
Chosen Option : 4

train service in December 2020?

x 1. Bengaluru Metro
X 2. Kolkata Metro
x 3. Mumbai Metro

( 4. Delhi Metro

Q.27 Which of t he f ollowing met ro services st art ed India’s first -ever f ully-aut omat eddriverless

Question 1D : 8161619788
Status : Answered
Chosen Option : 4

Cup 2020, held in Cologne, Germany?

W 1. Nine
X 2.seven
X 3.six
X 4. Eight

Q.28 What was t he t ot al number of medals won by Indian boxers at the Cologne BoxingWorld

Question ID : 81616110135
Status : Not Answered
Chosen Option : --




Q.29 fa=Afeifa & & fergent fader 20208 gaifiiges dawf offts hiad e S aifw sfear
(Assocham) =T aremrat fazgh femam mar 2

Ans  off 1t s
25 2.5 it
75 3.aife s
X 4. fyie SR

Question ID : 8161619828
Status : Answered
Chosen Option : 1

Q.30 As of December 2020, who among t he f ollowing is t he Chairman of State Bank of India?
Ans X1 Girish Chandra Chaturvedi

2% 2. Abhilash Mishra
( 3. Dinesh Kumar Khara

x 4. Deepak Parekh

Question 1D : 816161919
Status : Answered
Chosen Option : 3

Q.31 ST R (Bordet ella Pert ussis) SeRETRET & whivor Frfeif@a & & i ar dughar &2
Ans K" 1 e dr

W 2. @t

X 3.

X 4w

Question 1D : 8161619603
Status : Not Answered
Chosen Option : --

Q.32 fereft & amgTe & Wt aT o TUTA W I T R FISTgIsSed B GO & witfas
hl TRH HT &l

Ans K1 T
X 2
p
\f4. gE T

Question ID : 81616110097
Status : Not Answered
Chosen Option : --




Q.33 Which is the basic struct ural and functional unit of t he nervous system? Ans

X 1. Cerebrum
X 2. Nephron

X 3. Cerebellum

“ 4. Neuron

Question ID : 8161619814
Status : Answered
Chosen Option : 4

Q.34 At oms of dif f erent element s wit h dif f erent at omic numbers, which have t he same mass
number are known as

Ans X 1. isotones
x 2. isotopes
“ 3. isobars
x 4. isomers

Question ID : 8161619210
Status : Answered
Chosen Option : 3

Q.35 Which of t he following Harappan sites is located in India?
Ans X 1. Mohenjo Daro

“ 2. Daimabad

X 3. Ganweriwala

X 4. Shortugai

Question ID : 8161619624
Status : Answered
Chosen Option : 1

Q36 1191 & Gear gemig M &l g A gefirs gefta derds = A
Ans fl.ﬂl’éﬂﬁ

X 2

r

X aEzEm

Question ID : 8161619622
Status : Answered
Chosen Option : 1




Q.37 & fredt awg &Y nifey eaf=y &Y nifar & arferes g wiret & ot vt i & foF am Hrafad
qTAT FET &l

Ans XK 1w @rERi)
X 2. IO (STRIEIE)
f 3. IO e (QUEiaR)
X 4 sgetie (@Eefa)

Question ID : 8161619008
Status : Answered
Chosen Option : 3

Q.38 In which year did the 12th Five Year Plan end?

Ans ( 1.2017
X 2. 2015
25 3.2016
X 4. 2018

Question 1D : 8161619594
Status : Answered
Chosen Option : 1

Q.39 Which of t he f ollowing Art icles of t he Const it ut ion of India makes provisions for a joint
sitting of both Houses of Parliament?

Ans X1 Article 126

X 2. Article 93
( 3. Article 108

X 4. Article 122

Question 1D : 81616110131
Status : Answered
Chosen Option : 3

Q.40 What is the SI unit of time?
Ans ( 1. Second

x 2. Millisecond

x 3. Hour
x 4. Minute

Question ID : 8161619801
Status : Answered
Chosen Option : 1




Q.41 is an attempt to obtain sensit ive informat ion such as username, password
and credit card det ails, etc. for malicious reasons, by posing as a t rust wort hy source
in email.

Ans X" 1 Doctoring
o 2. phishing
X 3. Cheating
X 4. Peeping

Question ID : 8161619587
Status : Answered
Chosen Option : 2

Q.42 Wit h how many Indian st at es/union territories does t he newly carved union territory of
Ladakh share its borders?

Ans 1 Four
W 2 Two
& 3. Three
25 4. one

Question 1D : 81616110116
Status : Not Answered
Chosen Option : --

Q.43 For which of t he following quantities does the unit of time appear twice in the
denominator?

Ans X 1. Velocity

X 2. Speed
V 3. Acceleration

X 4. Displacement

Question ID : 8161619212
Status : Answered
Chosen Option : 3

Q.44 Scurvy is primarily caused by the prolonged deficiency of Vitamin

Ans X' 1.D
oo
X 3.B1
X aA

Question 1D : 8161619000
Status : Answered
Chosen Option : 2




Q.45 W& & HAld iR ¢ 94 # gwdh) gratast & ot & safY @@t hgl STl 21
Ans x 1. TRA (quorum)
x 2. H¥ehieT (question hour)

( 3. ST (recess)

x 4. (zero hour)

Question ID : 8161619629
Status : Answered
Chosen Option : 3

Q.46 Which of t he f ollowing cit ies is scheduled t o host t he 2034 Asian Games as per t he
announcement made by t he Olympic Council of Asia on 16 December 2020?

Ans x 1. Ulaanbaatar
W 2. Riyadh
75 3. Manila
75 4. Doha

Question 1D : 81616110134
Status : Not Answered
Chosen Option : --

Q.47 Alan Economic Zone in the sea was prescribed by t he United Nat ions
Convention in 1982 on the Law of the Sea over which a country has certain rights.

Ans x 1. Expensive
x 2. Partial
x 3. Special
V 4. Exclusive

Question 1D : 8161618996
Status : Not Answered
Chosen Option : --

Q.48 F1ag # Uk g ¥ Aflis wgfemi anfae A & s e spgrsman g,
Ans (1,;@:

X 2o

X s o

p )

Question ID : 8161619226
Status : Answered
Chosen Option : 1




Q.49 I wferemsy & o argesbe 300A & Aga wufw & wifers iftirz o1 Ieera faan
T gl

Ans \fl.xn
X 2.x
53X
K4

Question 1D : 8161619431
Status : Answered
Chosen Option : 3

Q.50 Which of t he f ollowing st at es does NOT fall under the basin of river Tapi?Ans
x 1. Madhya Pradesh
x 2. Mabharashtra

x 3. Gujarat
“ 4. Rajasthan

Question 1D : 8161619218
Status : Answered
Chosen Option : 4

Section : General Engineering Civil and St ruct ural

Q1 Which of the following is a statically indeterminate structure?
Ans 1. Simply supported beam
2. Three hinged arch

3. Two hinged arch

/< 4. Cantilever beam

Question 1D : 81616110014
Status : Answered
Chosen Option : 3

Q2 Which of the following is a disadvantage of plane table survey?

Ans 1. It replaces compass survey in magnetic areas.

N

. It is simple and cheaper than a theodolite survey.

w

- It is most suitable for small scale maps.

~

- It is essentially a tropical instrument.

Question ID : 8161619969
Status : Not Answered
Chosen Option : --




Q.3 Arectangular channel of bed width 2 m is to be laid at a bed slope of 1 in 1000. Find the hydraulic radius of the canal
cross-section for the maximum discharge condition? Take Chezy’s constant as 50.

A X1 2m
< 2025m
v305m
K4 lm

Question 1D : 81616110285
Status : Answered
Chosen Option : 3

Q.4  The maximum permissible limit of total dissolved solids (TDS) in drinking water in the absence of an alternate source
as per IS 10500-2012 is:

Ans 1. 500 mg/l
2. 200 mg/l
3. 100 mg/l
4. 2000 mg/l

Question 1D : 81616110011
Status : Answered
Chosen Option : 4

Q5 Observed N-value of an SPT test is 21. The N-value after correcting for dilatancy is:
Ans - X115

X219

X3 21

v 18

Question 1D : 81616110273
Status : Answered
Chosen Option : 4

Q.6 According to IS 2180:1988, what is the minimum bulk density of heavy duty burnt clay bricks?

Ane 1. 45 g/cm3
2. 2.5 g/cm3
3. 7.5 g/’cm3

4. 8.5 g/'cm3

Question ID : 81616110136
Status : Not Answered
Chosen Option : --




Q7 What is the percentage of alumina in good brick earth?
Ans X1 45 to 55%

X 2 5t0 10%

v 2 20t0 30%

X 4 1t05%

Question 1D : 81616110137
Status : Answered
Chosen Option : 3

Q.8  Select the correct option with regard to the following two statements (H1 and H2) pertaining to the hydrograph of a
storm in a catchment.

H1: The rising limb of the hydrograph depends on the catchment characteristics only.

H?2: The recession limb of the hydrograph depends on the storm characteristics and catchment characteristics.

Ans - X1 Statement H1 is false and statement H2 is true
& 2 Statement H1 is true and statement H2 is false
« 3 Both statements H1 and H2 are false
#< 4 Both statements H1 and H2 are true

Question 1D : 81616110294
Status : Not Answered
Chosen Option : --

Q.9 The duty of a given crop is 400 hectare/cumecs, when the base period of the crop is 100 days. Delta (A) of the crop will
be:

Ans 16000 mm
v 2 2160 mm
/< 32000 mm
#< 4. 4000 mm

Question 1D : 81616110193
Status : Answered
Chosen Option : 2

Q.10 Asoil sample with specific gravity of solids 3 has a mass specific gravity of 2. Assuming the soil to be perfectly dry
determine the void ratio.

Ans - X1 0.8
X215
<3 1.0
v 05

Question ID : 81616110177
Status : Answered
Chosen Option : 4




Ans

N

IN

inner edge

Ans X 1

X3
X 4

=

@

v &3

(expressed as percentage of gross cross-sectional area of the column), are respectively:

A of 1 0.8 and 6
2 1and 10
X3 04and4
X 4 0.5and 8

non plastic

- highly plastic
medium plastic

. low plastic

. then the super elevation is
- 1in 50
1in25
- 11in20
- 1in40

35
25
45
10

Q.11 According to IS 456 : 2000, the minimum and maximum percentage of longitudinal reinforcement in a column

Question 1D : 81616110325
Status : Answered
Chosen Option : 1

Q.12 Asoil sample is tested for its plasticity index and the obtained value of plasticity index is 21. In such case, the soil
sample can be described as:

Question 1D : 81616110173
Status : Answered
Chosen Option : 2

Q.13 Ina horizontal highway curve, if the width of the highway is 10 m and the outer edge is 40 em higher with respect to the

Question 1D : 81616110199
Status : Answered
Chosen Option : 2

Q.14 According to Indian Roads Congress, the Flakiness Index of Coarse Aggregates used in bituminous concrete and surface
dressing should NOT exceed:

Ans X1
v
X 3.
X a4

Question ID : 81616110142
Status : Answered
Chosen Option : 1




Q.15 A stone weights 250 N in air and 150 N in water. If the unit weight of water is 10000 N/m?, the volume of the stone is:

Ans

L 0.015 m’
2.0.025 m’
30.01 m?
4 0.02 m?

Question ID : 8161619980
Status : Answered
Chosen Option : 3

Q.16 fr=ffEa & ¥ #iv & R F1 suer Bl FufeT (Ra W) F R 757 (rateable value)
F MR & Tore FET AT Sar 82

MK O Jew B
2. farar fafer
s g fafer
4. oreT e =Afer

Question 1D : 81616110256
Status : Answered
Chosen Option : 4

Q17 In an orifice the coefficient of contraction is defined as the ratio of:
Ans 1. area of jet at vena-contracta to area of orifice

2. area of orifice to area of jet at vena-contracta

. theoretical velocity to area of jet at vena-contracta

w

E

velocity of jet at vena-contracta to area of orifice

Question 1D : 81616110182
Status : Answered
Chosen Option : 1

Q.18 For the occurrence of laminar flow through pipes, the value of Reynolds’ number shall be less than:
Ans 14000

X 2. 5000

v 5 2000

46000

Question ID : 81616110181
Status : Answered
Chosen Option : 3




Ans

Ans

Ans

KoL

Q19 While carrying out civil engineering work, Muster Roll is used for the purpose of:

recording of attendance of the permanent staff in the work executing department

v 2

recording the attendance of daily labourers employed in a work, and the quantity of work done by them

F

payment of permanent staff in the work executing department

/< 4 payment of the material at site

+ 1 Base line
X 2 Tie line
#< 3 Check line
& 4 Cross line

greater than 25 mum, so as to work out the gross diameter is:
X 1 1.5mm
# 2 3.0mm
v 3 2.0mm
K 4 3.5mm

Question 1D : 81616110148
Status : Answered
Chosen Option : 2

Q20 Identify the biggest (or longest) of the main survey lines in chain surveying.

Question 1D : 81616110161
Status : Answered
Chosen Option : 1

Q.21 Inriveted connection, the allowance (increase) that is to be provided to the nominal diameter of rivets having diameter

Question 1D : 81616110230
Status : Answered
Chosen Option : 3




Q22 The order of the components of a typical flexible pavement from bottom to top is:

Ans x 1.

Granular sub-base cum drainage layer, Prepared soil subgrade, Granular base course, Bituminous binder and/or surface
course

X 2

Granular base course, Bituminous binder and/or surface course, Prepared soil subgrade, Granular sub-base cum drainage
layer

X s

Prepared soil subgrade, Granular base course, Granular sub-base cum drainage layer, Bituminous binder and/or surface
course

v

Prepared soil subgrade, Granular sub-base cum drainage layer, Granular base course, Bituminous binder and/or surface
course

Question TD = 81616110297
Status : Answered
Chosen Option : 4

Q.23 For a structural member, dead load = 20 kN and live load = 12 kN. What will be its design load as per limit state of
collapse philosophy?

s KL 8kN
v 2 48 kKN
X 3 32kN
X 4 20kN

Question 1D : 81616110224
Status : Answered
Chosen Option : 2

Q24 Convert the whole circle bearing 336°40° to reduced bearing.
Ans of 1N 23920'W

X 2 $23%20W

X 3 N23°920°E

X 4 S23°20E

Question ID : 81616110163
Status : Answered
Chosen Option : 1

Q.25 The scale of a map is represented by representative fraction as 1 : 4000. The distance between two points A and B in the
map is 10 cm. The distance AB on the ground is (in km units):

Ans X140
v 04
X34
&< 4.0.04

Question ID : 81616110264
Status : Answered
Chosen Option : 2




Ans

Ans

Ans

Ans

relation?

< 1 E=9NK/(N+K)
« 2 E = 9NK/(N+3K)
X 3 E=6NK/(N+3K)
< 4 E=9NK/(3N+3K)

Q2" Indian Roads Congress (IRC) was founded in the year:

v 1 1934
X 21948
& 31945
X 41950

« 1 field capacity
/< 2. permanent wilting point
X 3. seepage water

X 4 readily available moisture

m)
v i 250m3
X2 | som?

X3 350m3
< 4 350 m?

Q.26 IfE is modulus of elasticity, N is modulus of rigidity and K is bulk modulus, then which of the following is a correct

Question 1D : 81616110217
Status : Answered
Chosen Option : 2

Question 1D : 81616110196
Status : Answered
Chosen Option : 1

Q.28 The amount of water content remaining in a unit volume of soil after downward gravity drainage has ceased is called:

Question ID : 8161619989
Status : Answered
Chosen Option : 1

Q.29 What should be the liquid capacity of a septic tank designed for 25 users? (Take per user volume requirement as 0.1

Question ID : 81616110153
Status : Answered
Chosen Option : 1




Q.30 The length of a line measured by a 30 m chain was found to be 450 m. If the chain was 0.2 links short, then find the true
length of the line.

Ans X1 449.8 m
' 2 4491 m
X 3 449.6 m
X 4 448.0m

Question 1D : 81616110169
Status : Answered
Chosen Option : 4

Q.31 A cantilever beam of span L carries a uniformly distributed load of w kN/unit length. What is the maximum deflection
occurring in the beam? (Take E as the modulus of elasticity and I as the moment of inertia of the beam section)

X 1 wL3/48El
X 2 wL3/6EI
X 3 wLZ/8EI
v ¢ wLYgEI

Ans

Question 1D : 81616110215
Status : Answered
Chosen Option : 4

Q.32 According to IS 800 : 2007, in the limit state design of steel structures, the limit state of strength does NOT include:
Ans X 1. stability against overturning
« 2 corrosion and durability

< 3. rupture of the structure
< 4 fracture due to fatigue

Question 1D : 81616110330
Status : Answered
Chosen Option : 2

Q33 Water content of a soil sample can be determined by:
Ans 1. the shrinkage limit method

< 2. the jar test method

/< 3. the sand replacement method

« 4 the alcohol method

Question ID : 8161619972
Status : Answered
Chosen Option : 4




Ans - X 1 2.5and 2
v 2 2and 2.5
X3 1.5and?2
X 4 25and3

S1: In plastic paint, the thinner used is oil.

S2: Varnish is a homogeneous solution of resin in alcohol.

Ans X 1. Both S1 and S2 are true
« 2. Sl is false and S2 is true
& 3 Sl is true and S2 is false
< 4 Both S1 and S2 are false

Ans X 149,991 litres/min
#< 2. 56,111 litres/min
W 3 63,640 litres/min
/< 4. 32,159 litres/min

A% of 1 apiezometer tapping

# 2. a pitot tube

/< 3. an orifice meter
/& 4 aventuri meter

Q.34 According to IS 456 : 2000, the ratio of effective span to overall depth of beam. for the consideration of a beam as deep
beam, in the case of simply supported and continuous reinforced concrete beams, respectively, are:

Question 1D : 81616110327
Status : Answered
Chosen Option : 2

Q.35 Select the correct option with regard to the following statements (S1 and S2) pertaining to two types of paints.

Question 1D : 81616110243
Status : Not Answered
Chosen Option : --

Q.36 What will be the fire demand for a city having population of 4,00,000 by the Kuichling’s formula?

Question 1D : 81616110207
Status : Answered
Chosen Option : 3

Q37  To measure the static pressure in a pipe, one uses a pressure gauge connected to:

Question ID : 81616110283
Status : Answered
Chosen Option : 1




Q.38 The relation between the area of crop irrigated and the quantity of irrigation water required during the entire period of
the growth of that crop is known as:

Ans - X 1. head
/< 2. depth ratio
W 3 duty
X 4 delta

Question 1D : 81616110190
Status : Answered
Chosen Option : 3

Q39 Which of the following is a sedimentary rock?

Ans o 1 Limestone
& 2 Gneiss
& 3 Granite
& 4 Dolerite

Question ID : 8161619939
Status : Answered
Chosen Option : 1

Q40 A fluid flows through an orifice of an area 0.4 m? with an actual discharge of 400 I/s. If the theoretical velocity of flow
through the orifice is 2 m/s, what is the coefficient of discharge?

Ans - X 10.71
v 2 0.50
2 3.0.68
X 4 0.56

Question 1D : 8161619984
Status : Answered
Chosen Option : 2

Q.41 Two statements associated with concrete are given. Select the correct option with regard to these statements.
1: As the compaction factor increases, slump decreases.
2: Slump test helps in qualitatively understand the setting time of concrete.
Ans K 1 Statement 1 is false and statement 2 is true
v 2 Statement 1 and statement 2 are false
/< 3 Statement | is true and statement 2 is false

/< 4 Statement 1 and statement 2 are true

Question ID : 81616110323
Status : Answered
Chosen Option : 3




Q.42 An 8 m wide bituminous concrete pavement of a state highway is to be constructed in a heavy rainfall region. What
should be the height of the crown with respect to the edges if cross fall of I in 50 is used?

Ans X1 0.062 m
X 20.07m
< 3 0.058m
v 4 0.08m

Question ID : 8161619998
Status : Answered
Chosen Option : 4

Q.43 Which of the following options provides the correct sequential stages of engineering surveys to be done for a new
highway alignment project?

Ans x 1.

Reconnaissance — Map study — Preliminary survey — Final location and Detailed survey

X2

Map study — Preliminary survey — Reconnaissance — Final location and Detailed survey

p

Preliminary survey — Map study — Reconnaissance — Final location and Detailed survey

v

Map study — Reconnaissance — Preliminary survey — Final location and Detailed survey

Question ID : 81616110302
Status : Answered
Chosen Option : 4

Q44 The coagulant “alum’ used for treatment of water is also known as:
Ans

#C 1 ferric sulphate
< 2. sodium aluminate

v 5 aluminium sulphate
7< 4. ferric chloride

Question 1D : 81616110006
Status : Answered
Chosen Option : 3




Q.45 The following details pertain to the crossing of a canal and a natural drain.

Bed level of canal =+ 171 m; Full supply depth of canal = 1.6 m: Bed level of drain =+ 169.2 m: Depth of flow in the
drain corresponding to high flood discharge = 2.5 m.

The type of cross drainage work to be designed at the crossing location is:

Ans 1. a syphon aqueduct
2< 2. asuper passage
3. a canal syphon

#< 4 an aqueduct

Question 1D : 81616110291
Status : Answered
Chosen Option : 1

Q48 Which of the following is a semi-modular canal outlet?

Ans

=

- Pipe outlet discharging freely in the atmosphere

N

. Gibb’s rigid module

w

- Khanna’s rigid module

IN

. Submerged pipe outlet

Question ID : 8161619992
Status : Not Answered
Chosen Option : --

Q47 The moisture content of sewage sludge of two samples was reduced as follows:
Sample A: 97% to 95%.
Sample B: 98% to 96%

Select the correct inference.

Ans ( 1.

There is a decrease in volume of 60% for Sample A and 50% for Sample B
x 2.
There is an increase in volume of 60% for Sample A and 50% for Sample B
e 3
<
The decrease in volume for samples A and B is the same = 50%
4.

<

The decrease in volume for Samples A and B is the same = 60%

\Jucbliull D . 01l01011VUO1U
Status : Answered
Chosen Option : 1




Q.48 According to IRC (Indian Roads Congress), what is the maximum stripping value of aggregate to be used in bituminous
construction like surface dressing?

Ans X1 1%
< 2 45%
v 3 25%
X2 12%

Question 1D : 81616110200
Status : Not Answered
Chosen Option : --

Q49 smETw (IS) 3812 (8797 1) : 2013 ¥ 3ER, 38 TW (ash) T a1 FT §, F Foms ¥or A7 dfen T
¥ FAR R ser § @t A e o srpare e ser ¥ AR o v st Pafe e A o
AT ST 22

Ans . FohITH Fols VU (Calcareous fly ash)
- A13% ¥ (Mound ash)

[y

N

3 UedUlsws Tl U (Pulverized fuel ash)

IN

. 9i=Z VT (Pond ash)

Question 1D : 81616110218
Status : Not Answered
Chosen Option : --

Q50 If velocity potential (@) exists in a fluid flow. then the flow is said to be:
Ans X1 rotational

« 2. irrotational

< 3. turbulent

# 4 laminar

Question 1D : 8161619981
Status : Answered
Chosen Option : 1

Q.51 The diameter of a cylinder in the Le-Chatelier apparatus for conducting the soundness test of cement is:
Ans X1 22 mm

&< 2. 40 mm

/< 3 35 mm

v 2 30 mm

Question ID : 81616110140
Status : Answered
Chosen Option : 2




Q.52 What will be ruling minimum radius for horizontal curve of NH (National Highway) in plain terrain? (Assume ruling
design speed = 127 km/h, minimum design speed = 80 knvh, rate of super elevation e = 0.05 and coefficient of friction
=0.05)

Ans  of 11270 m
< 21300 m
X 3400 m
< 4 800 m

Question 1D : 81616110202
Status : Answered
Chosen Option : 1

Q53 3w (FTE, F, G, H Tre)) Tg=ne ¥ or@d At & 3ol F T AT $r gowea gawT 7@
B

E. X & aredt (bunds) @ 21 (Turfing)

F. 38R X &g #15 &3 (Wood work)

G. Hefter 3R erefier, ®iAa® (Centering and shuttering, formwork)
H. ¥ fAf¥sT (Well sinking)

Ans - X1 F
X2G
K3 E
v+ H

Question ID : 81616110251
Status : Answered
Chosen Option : 2

Q54 What is the unit of measurement used for expansion joint work in concrete?

Ans  of 1 m
X 22
X s kg
X o m3

Question ID : 81616110149
Status : Answered
Chosen Option : 1




Q.55 Asquare footing for a column carries a total load (including the self-weight of footing) of 1760 kN. The safe bearing

capacity of soil is 200 KN/m?. Using M 20 grade concrete and Fe415 steel, the area of footing (rounded to the nearest
integer) will be:

KL g5
v 2 9m?
< % 16m?
K4 o2m2

Question 1D : 81616110229
Status : Answered
Chosen Option : 2

Q.56 The cross drainage structure in which the canal bed level is kept much higher than the high flood level (HFL) of a
stream is called:

Ans X" 1. asuper passage
/< 2. acanal syphon
« 2 an aqueduct

X 4 alevel crossing

Question ID : 8161619995
Status : Answered
Chosen Option : 3

Q.57 The total unit weight of the glacial outwash soil is 5 KN/m°. The water content in the soil is 17%. Find dry unit weight.

v 1 427 kN/m?
X 2 627 KN/m’
< 3 0,29 KN/m?
4 3.40 KN/m?

Ans

Question 1D : 81616110175
Status : Answered
Chosen Option : 1

Q.58 According to IS:5515, the distance between the bottom of the lower hopper and the top of the cylinder in the
Compacting Factor Apparatus is:

A of 1 20.0 cm
< 2 229cm
< 3 12.7cm
X 4 254cm

Question ID : 81616110222
Status : Answered
Chosen Option : 3




Q.59 Identify the component content which has to be reduced at the time of clinker grinding in the preparation of Quick
Setting Cement.

Ans ¢ 1 Alumina
/< 2. Sulphate
+ 3 Gypsum
/< 4 Magnesium

Question 1D : 81616110220
Status : Answered
Chosen Option : 3

Q.60 Inacement concrete work mixed in proportion 1 : 2 : 4 (cement : fine aggregate : coarse aggregate) by volume, the fine
aggregate is observed to have a bulking of 10%. If the correction for bulking is NOT applied, what will be the actual dry
fine aggregate in the concrete mix proportion?

Ans X 12X 1.1
. 11
2. A
~ 2
X3ax 112

2
(4.H

Question 1D : 81616110238
Status : Not Answered
Chosen Option : --

Q&1 Which of the following is NOT a type of annuity?

Ans

v Annuity eccentric
& 2 Perpetual annuity

X 3 Annuity due
/< 4 Annuity certain

Question 1D : 81616110155
Status : Answered
Chosen Option : 1




Q62 T imit state of collapse deals with:

Ans X 1 fire resistance

X2

durability under working environment during their anticipated exposure conditions during service

v &)

the strength and stability of structures subjected to the maximum design loads out of the possible combinations

/< 4 deflection and cracking of structures under service loads

Question 1D : 81616110032
Status : Answered
Chosen Option : 3

Q.63  The following data pertains to a sewage sample at a point source.
Initial dissolved oxygen (DO) = 12 mg/l; Final DO =4 mg/l: Dilution of sewage was done to 2% .

The Bio-chemical oxygen demand (BOD) of the given sample of sewage is:

Ans X 1. 800 mg/l
2 400 mg/l
/< 3 8mg/l
4 80 mg/l

Question 1D : 81616110307
Status : Answered
Chosen Option : 2

Q.64 When a 30-metre chain is tested for its accuracy against a steel tape standardised at 20°C with an 8 kg pull, its overall
length should NOT deviate beyond 30 .

A X 1 45 mm
A 2 +15mm
v 3 +8 mm
X 4 +£10 mm

Question 1D : 8161619962
Status : Answered
Chosen Option : 3

Q.65 If the latitude and departure of a line AB with the bearing measured at A are 40 m and 30 m, respectively, estimate the
length of the line AB.

Ans - X1 10m
X 235m
v s 50m
K 4 70m

Question ID : 81616110262
Status : Answered
Chosen Option : 3




Q.66 Read the given statements and select the correct option.
Statements:

A: Rectangular slabs which are supported only on two opposite sides by unyielding supports and are uniformly loaded
along the direction parallel to the supports are one-way slabs.

B: Twisting moments develop in addition to bending moments in the case of two-way slabs, except when the element is
oriented along the principal curvatures.

Ans X L Statement A is correct and statement B is incorrect

/< 2. Statement A is incorrect and statement B is correct
+ 2 Both statements A and B are correct
/< 4 Both statements A and B are incorrect

Question 1D : 81616110029
Status : Not Answered
Chosen Option : --

Q.67 The following statements (S1, S2, S3) pertain to mass concreting. Which of the following statements are correct?

S1: The materials preferred for mass concrete are: Portland cement with low heat of hydration, Pozzolanas, Aggregates
(coarse and fine), Water, Admixture, Coolants.

S2: Slump of mass concrete shall be the same or more than ordinary concrete work.

S3: Concrete with a low water cement ratio, correctly consolidated and properly cured provides durability to mass
concrete work.

« 1 Sl and S3 only
< 2. S2 and S3 only
75 3 S1,S82,83

/< 4 Sl and S2 only

Ans

Question ID : 81616110320
Status : Not Answered
Chosen Option : --

Q.68  How many groups of soils come under the Indian standard soil classification system?

Ans Xl.E
X212
X34
v 4 18

Question ID : 8161619975
Status : Answered
Chosen Option : 4




Q.69 A building fetches a rent of T10,000 annually. After repairing, it will last for 2 years. If the rate of interest on capital is
5% and the co-efficient of annual sinking fund is 0.05, then estimate the capitalised value of the building after 2 years.

Ans X 1. T4,50,000
X 2 %1.,50.000
X 3 %8,50.000
v + ¥1,00,000

Question ID : 81616110158
Status : Not Answered
Chosen Option : --

Q.70 AsperIS 10313:1982, which of the following factors does NOT influence the sedimentation process in a sedimentation
tank?

Ans o 1. pH value of water
/< 2. Size. shape and weight of particle

X 3 Surface overflow
/< 4 Inlet and outlet arrangement

Question ID : 81616110209
Status : Answered
Chosen Option : 1

Q.71 Identify the method that is NOT used for the computation of average rainfall in a catchment having » number of
stations.

Ans 1. Arithmetic average method
/< 2. Thiessen polygon method
7< 3. Isohyetal method
« 4 Hyetograph method

Question 1D : 81616110288
Status : Answered
Chosen Option : 4

Q.72 Which of the following design methods of reinforced cement concrete structures is based on the linear elastic theory?

v Working stress method

#< 2. Ultimate load method

& 3. Kani’s method
< 4. Limit state method

Ans

Question ID : 81616110026
Status : Answered
Chosen Option : 1




Q.73 What is the deflection at the free end of a cantilever beam of length L subjected to point load P as shown in the diagram,
where E is Young’s modulus and I is the moment of inertia?

2
| }
——

v Pl
3EI
X 2 4PL3
3EI
< 3 PI?
3EI
< 4 PL3
6EI

—— NANANN

QUestion 1D 81616110016
Status : Answered
Chosen Option : 1

Q74 The aggregates are classified as fine aggregates if theirsizeis _ and less
Ans of 14,75 mm

2 10 mm

X 3 7.50 mm

X 4 2.10 mm

Question 1D : 8161619944
Status : Answered
Chosen Option : 1




Q7 What is the lift of soil material for the canal shown in the figure?

embankment

Question ID : 8161619951
Status : Answered
Chosen Option : 1

Q7 What is the correct sequence of preparing an estimate?

1. Detailed estimate

)

Approximate estimate
. Supplementary estimate

3
4. Revised estimate
Ans - 11,2,3,4
X 24,3,1,2
v &
X 4

2;5:1,:3;4
1,3,;2:4

Question ID : 8161619953
Status : Answered
Chosen Option : 3




Q.77 Among the following air pollutants, identify the ones responsible for the greenhouse effect.

Carbon dioxide
Methane

Sulphur dioxide
Chlorofluorocarbons

SR S

Carbon monoxide

Ans = 1.1.2:3:5
v 2124
X 33,4,5
X 4.1,2,3:4,5

Question ID : 81616110306
Status : Answered
Chosen Option : 1

Q.78 Is399%3@%11,ﬁ?g@ﬂﬁ#mﬁﬁmaﬂﬁg@rm#mwaﬁ%ﬁmm%
S Feta g g1

W 1 AT THST (rough timber)
X 2 Sfaa sk (living timber)
X 3. @3 a@sr (standing timber)
X 4+ AT dH3T (dead timber)

Ans

Question ID : 8161619938
Status : Answered
Chosen Option : 4

Q.79 A machine purchased at a cost of 10,000 has a useful life of two years. The amount which is to be set aside annually as
sinking fund at the rate of 10% compound interest will be:

& 1 Z1,000/0.31
& 2 %1,000/0.10

v 5 71,000/0.21
X 4 T1,000/1.10

Ans

Question ID : 81616110156
Status : Answered
Chosen Option : 4




Q80 A 50 m tape is held 2 m out of line. What is the true length?

Ans X 1 48 m
v 2 4996 m
X 3 49.02m
X 4 48.02m

Question ID : 81616110165
Status : Answered
Chosen Option : 2

Q.81 What is the rate of flow in a rectangular channel 4 m wide and 2 m deep with a bed slope of 1 in 900 when it is running
full if Chezy’s constant is 50?

Ans
X 11438 miss

v 2 1333 mds
X3 1225ms
< 41056 m3/s

Question ID : 8161619985
Status : Answered
Chosen Option : 2

Q82 Which of the following tests is NOT used for testing fineness of cement?
Ans X 1 Air permeability method

& 2 Wagner Turbidimeter method

' 3 Density bottle method

& “ Sieve method

Question 1D : 8161619945
Status : Answered
Chosen Option : 3

Q.83  According to IS 800:2007, what will be the maximum slender ratio of a member (beam) carrying compressive load
resulting from dead load and imposed load?

Ans - X 1250
v 2 180
& 3 300
X 4200

Question ID : 81616110235
Status : Answered
Chosen Option : 2




Q.84 The minimum stripping time of soffit formwork to beams (props to be refixed immediately after removal of formwork)
is:

A X 13 days
< 2. 21 days
W 3 7 days
X 4 14 days

Question 1D : 81616110319
Status : Answered
Chosen Option : 3

Q.85 A double U-shaped butt weld is to connect two plates 200 mm (d) > 20 mm (b), as shown in the given figure. What is
the stress developed in the weld if it is subjected to a moment of 10000 kN-mm?

d=200 mm|

v 1 75 N/mm?
< 2 50 N/mm?
< 3 150 N/mm?
#4100 N/mm?

Ans

Question ID : 81616110035
Status : Answered
Chosen Option : 4

Q.86 Highest momentary peak discharge at the respective point of observation in river flow, which is equalled or exceeded
once every year, is known as:

#< 1 back water
v annual flood

& 3 avulsion
X 4. base flood

Ans

Question ID : 81616110187
Status : Answered
Chosen Option : 2




QY Crafaf@e ar & ¥ #la-d e s (open land) F Fearar Hr fafr E &2

Ans

X 1 geelrcAs fafer (Comparative method)
X 2 gfeder fafer (Belting method)

X 3. 3mreRyt f3fer (Abstractive method)
v« garfaerass @fr (Progression method)

Question 1D : 81616110154
Status : Not Answered
Chosen Option : --

Q8 Within the elastic limit of a material, modulus of elasticity is ratio of:

Ans X 1 area to strain
& 2 stress to area
/< 3 strain to stress
W 4 stress to strain

Question 1D : 81616110212
Status : Answered
Chosen Option : 4

Q.89  As perIS 800 : 2007, what is the maximum value of effective slenderness ratio of a beam / strut / tension member for
the following cases?

Case 1: Members carrying compressive loads resulting from dead loads and imposed loads.
Case 2: Members always under tension.

Case 3: Members subjected to compressive forces resulting from a combination of wind/earthquake actions.

Ans % 1. Case 1: 250, Case 2: 350, Case 3: 300
o 2 Case l: 180, Case 2: 400, Case 3: 250
25 3. Case 1: 250, Case 2: 350, Case 3: 400
25 4. Case 1: 200, Case 2: 250, Case 3: 400

Question ID : 81616110332
Status : Answered
Chosen Option : 3




Q.90 IfNis the number of sides of a closed traverse, then select the INCORRECT checks applied on a closed traverse.

Ans x 1.

The sum of measured interior angles should be equal to (2N—4) right angles.

.(2.

The sum of measured exterior angles should be equal to the sum of measured interior angles.
x?

The sum of measured exterior angles should be equal to (2N+4) right angles.
X 4.

The fore bearing of the last line should be equal to its back bearing + 180° measured at the initial station.

Question ID : 8161619966
Status : Answered
Chosen Option : 2

Q.91 Which of the following terms represents the torque that produces a twist of one radian in a shaft of unit length?
Ans 1. Flexural rigidity
< 2 Torsional stress
3. Torsional rigidity

< 4 Moment of resistance

Question 1D : 81616110312
Status : Answered
Chosen Option : 3

Q.92 A construction firm has decided to use burnt clay bricks of class 20 and above (as per IS 1077 : 1992) for the
construction of a residential complex. The table below gives the details of Samples with Id (S1, S2, S3, S4, and S5)
taken from five different suppliers. The criteria to be adopted are the percentage of water absorption and average

compressive strength of bricks corresponding to bricks of class 20 and above. Select the Id of the samples which can be
recommended for use in brick wall construction.

Id Water Average
absorption compressive
(%) strength (KN/m?)
S1 18 17500
S2 20 21000
S3 12 20000
S4 10 14000
S5 15 27000

Ans 1. S1, 82, S3 and S4 only
X 2. S1,S2,S3, S4 and S5
3. S3 and S5 only
#< 4. S2, S3, S4, and S5 only

Question ID : 81616110246
Status : Answered
Chosen Option : 3




Q.93 For the flow of an ideal, incompressible, non-viscous fluid, the Bernoulli’s equation, can be expressed as:

(Notations: p - intensity of pressure, - unit weight of fluid, v - velocity of flow, Z - datum head, g - acceleration due to

gravity).
Ans 2
v Z+B — = (Const.
Y 2g
2
~ 2 Bt Y e o
Yy g
xaz-B4 v_ Const.
Y 29
2
X 4 Z+)£/ B o Const.

Question 1D81616110281
Status : Answered
Chosen Option : 1

Q.94  According to IS: 654-1962, the maximum water absorption percentage of Class AA type Mangalore pattern tiles is:
Ans o 1 18%

X 2 35%

<3 29%

X4 25%

Question 1D : 81616110146
Status : Answered
Chosen Option : 4

Q.95 As perIS 10500:2012, the permissible limit of total dissolved solids (TDS). (in mg/l), in drinking water in the absence
of an alternate source is:

Ans X 1. 200
< 2. 1000
< 3 500
W 4 2000

Question ID : 81616110206
Status : Answered
Chosen Option : 2




Q.96 Inacompass survey work of an open traverse ABCDE shown in figure, the bearing of the first line AB observed was
not clearly written in the field. The observed bearing of the last line DE was recorded as S36°40°E. If the deflection
angles are 31°50° (right) at D, 42°30 (right) at C, and 18°20" (left) at B, calculate the bearing of the first line AB.

Ans X1 N 48°40°E
v 2 N87°20°E
X 3 S87°20°E
X 4 S48°40°E

Question 1D T 81616110269
Status : Not Answered
Chosen Option : --

Q.97 Ina standard penetration test, what is the weight of the hammer and the dropping height used as per IS 2131-1981?

Ans X1 4.89 kg, 450 mm
v 2 63.5 kg, 750 mm
/< 3 63.5 kg, 450 mm
< 4 2.6kg, 310 mm

Question 1D : 8161619977
Status : Answered
Chosen Option : 2

Q.98  Under which of the following conditions is the rent statement of a building NOT prepared?

Ans x 1.

‘When there are additions or alterations to a residential building. costing beyond a certain limit, fixed by the government.

X2

When a residential building is newly constructed by the government

v &)

A residential building owned by the government is converted to a field office for data collection by the government

p

When a residential building is acquired by purchase, lease or transfer by the government

Question ID : 81616110258
Status : Not Answered
Chosen Option : --




Q99 The unit weight of a soil sample is 20 KN/m? and the water content is 18%. The dry density of the soil sample is:

Ans

v 1 16.94 kKN/m’
X % 21.18 KN/m3
X% 11.80 kN/m?
XY 1112 kNm?

Question ID : 8161619973
Status : Answered
Chosen Option : 1

Q.100 The steepest gradient computed for a 2 degree curve with a ruling gradient of 1 in 200 is done for broad gauge (BG) and

Ans

metre gauge (MG) railway lines. Select the correct inference from the given options.
X 1.
Steepest gradient for the BG line = 0.44% and for the MG line = 0.42%
2. Steepest gradient = 0.44% for the BG and MG lines

3. Steepest gradient = 0.42 % for the BG and MG lines.
“ 4,

Steepest gradient for the BG line = 0.42% and for the MG line = 0.44%

Question 1D : 81616110301
Status : Not Answered
Chosen Option : --




